The police arrested four criminals - P, Q, R and S. The criminals knew each other.
- They made the following statements :

P says "Q committed the crime."

Q says "S committed the crime."

R says" I did not do it."

S says-“What Q said about me is false."

Assume only one of the arrested four committed the crime and only one of the
statements made above is true. Who committed the crime ?

(1) p (2) R (3) S - @Q

2. In a college, there are three student clubs, Sixty students are only in the Drama club, 80
students are only in the Dance club, 30 studc;nts are only in Maths club, 40 students are
in both Drama and Dance clubs, 12 students are in both Dance and Maths clubs, 7
students are in both Drama and Maths clubs, and 2 students are in all clubs. If 75% of
the students in the college are not in any of these clubs, then the total number of
students in the college is .............. :

(1) 1000 (2) 975 (3) 900 (4) 225

3. The random experiment is folling a pair of six sided dice. Compute the probability of
the sum of two dice being 8.
(1) 5/36 @) 736 - (3) 636 (4) 8/36

4. Let G be an undirected complete graph on 7 vertices, where n > 2. Then, the number of
different Hamiltonian cycles in G is equal to :

(1) n! (2) n-1! (3) 1 4) (n-1'/2

5. Let A = {1,2,3}. Then number of rclations con_taining (1, 2) and (1, 3) which are
" reflexive and symmetric but not transitive are :

(1) 1 (2) 2 (3) 3 @) 4
6. Iow many distinct binary functions of order 3 are there ?
(1) 32 (2 256 (3) 64 (4) 128
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7. In the given tree list the order that the nodcs arc proccsscd using prcorder and postorde

arc :
(1) befdcajacdfeb - (2) befdcajabedef
(3) abcdcf;befdca (4) abcdcf;fcdcba
8. In graphical solutions of lincar incquélilics, solution can be divided into :
7 (1) onc subsct (2) two subscts (3) thrce subscts  (4) four subscts
9. According to system of constraints, solution set graphical representation is classificd
. as: '
(1) region of ordinatc solutions (2) region of intercept solutions
(3) rcgion of vertex solutions (4) rcgion of feasible solutions

10. Ilow many IHamiltonian paths docs the following graph have ?

(1)\1 % | (2) 2 - @0 (4) 3

11. Which onc of the following clectronic circuils can be used to store 1 bit of data ?
(1) Encoder (2) OR gatc (3) Vlip flop (4) Dccoder
12. In 16-bit 2's complecment representation, the decimal number —20 is
(1) 111111110001 0100 (2) 0000 0000 1110 0100
(3) 1111 1111 11101100 (4) 1000 0000 1110 0100

MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(A)
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13.

14.

15.

{

/

When an interrupt occurs, which one of the following takes place ?

(1). Execution of the current instruction is completed and the address of the next
instruction is saved before the interrupt service program starts

(2) Execution of the current instruction is aborted and its address is saved before the
interrupt service program starts |

(3) Execution of the current instruction is completed and the interrupt service program
starts '

(4) Execution of the current instruction is aborted and the interrupt service program
starts '

Which one of the following is the ‘correct arrangement of the ease of programming
(from easiest to hardest) of various programming languages ?

(1) Binary machine code, hex code, assembly, high level language

(2) Binary machine code, assembly, hex code, high level languagc

.(3) High level language, aﬁ'sembly, hex code, Binary machine code

(4) High level language, hex code, assembly, Binary machine code

Which one of the following is a valid comparison of the characteristics of an RISC and
a CISC computer ? |

(1) CISC computers exhibit better performance than RISC ‘computers because

complex instructions get executed in hardware.

(2) For the éame program, a compiler generates more number of CISC instructions
than RISC instructions.

(3) CISC computers usually have a higher MIPS rating as compared with comparable
RISC computers.

(4) RISC computers deploy hardware control as compared with microprogfammed
control in case of CISC computers.

. MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(A) : ” P.T.O.
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16. For transferring data from a hard disk to the attached computer on a page fault, which
one of the following would be preferred mode of transfer ?
(1) Direct Memory access |
(2) Programmed IO
(3) Hardware interrupt driven I/O

(4) Software interrupt driven

17. A ROM is used to store the multiplication table of two 8 bit unsigned- integers. What
would be the size of required ROM ? |

(1) 64K X 16bits . (2) 16K X 8bits (3) 256 X 16 bits  (4) 32K X 8bits

18. If four processors are to be interconnected with three memory modules using a crossbar
interconnection, what is the minimum number of switches required ?

(1) 7 | Q) 12 () 16 4) 17

~

19. Distributed computers belong to which one of the following classes of computers ?
" (1) SISD (2) SIMD (3) MIMD (4) MISD
~20. What is the minimum number of 2-input NOR gates required to implement 4-variable

function expressed in sum-of-minterms from as f = X (0, 2, 5, 7, 8, 10, 13, 15) ?
Assume that all the inputs and their complements are available.

1) 3 ) 4 @5 4) 6

| 21. In orthographic projection, the object is placed with one gf its faces ............. to the
picture plane. , ;
'( 1) Inclined (2) Perpendicular (3) Parallel (4) Any of the above

22, The intersection of primary ROB colours and primary CMYK colours produces
and ....... +e.... colour respectively

(D -White colour, White colour

(2) White colour, Blaék colour

(3) Black colour, White colour

(4) Black colour, Black colour
MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(A)
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23. Let swap () be a function that swaps two elements using their addresses. Considcr the
following C function :

void fun(int arr[ ], int n)

{
for (inti=0;i<n;i+=2)
{
if (i>0 && arr[i — 1] > arr[i] )
swap(&arr[i], &arr[i-1]);
ifi<n-1&&arr[i]<arr[i+1])
swap(&arr([i], &arr[i + 1]);
}
} . A
If an array {10, 20, 30, 40, 50, 60, 70, 80} is passed to the function, the array is .
changed to :

(1) {20, 10, 40, 30, 60, 50, 80, 70} (2) {10, 30, 20, 40,60, 50, 80, 70}
(3) {10, 20, 30, 40, 50, 60, 70, 80} (4) {80, 70, 60, 50, 40, 30, 20, 10}

24. What is the return value of f(p, p), if the value of p is initialized to 5 before the call?
Note that the first parameter is passed by reference, whereas the second parameter is
passed by value :

int (int &x, int ¢) {
c=c~-1:
if (¢ == 0) return 1;
x=x+1;"
return f(x, ¢) * X;
. -
(1) 3024 (2) 6561 | (3) 55440 (4) 161051
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25. Which of the following is used to open document in new window ?
(1) <atarget="_self ">Link</a> .- 2) <a target="_blank">Link</a>
(3) <a target="_top">Link</a> (4) <atarget="_parent">Link</a>
26. What is the.difference between servlets aqd applets '?
i. Servlets exccute on Server; Applet§ execute on browser
i, Servlets have no GUI; Applet has GUI
. Servlets creates static web pages; Applets creatcs dynamic web pages
iv. Scrvlets can handle only a single request; Applet can handle multlple requests
(1) 1, ii, iii are correct (2) 1, iiare correct
(3) i, iii are correct (4) i, i, ii, iv are correct

27. The transformation in which an object can be shifted to any coordmate position in. three
dimensional plane are called :

(1) Translation  (2) Scalmg (3) Rotation . (4) All of these

- 28.. While inherifing a class, if no access mode is specified, then which among the
following is true ? (in C++)

(1) It gets inherited publicly by default
" (2) It gets inherited protected by default :
. (3) Tt gets inherited privately by default
(4) It is not possible

29. The most appropriate matching for the following pairs is :

X : Indirect addressing @i : Loops: ‘

Y :‘Imeediate addressing 7 . (ii) : Pointers

Z : Auto decrement addressing (iii): Constants
(1) X - (iii), Y - (i), Z- () (2) X~ (i), Y - (i), Z- Gi)
(3) X- (i), Y -G, Z-G) @) X~ (i), Y - @), Z- Gi)
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31.

32.

33.

34.

fseek( ) should be preferred over rewind( ) mainly because :
(1) rewind( ) doesn't work for empty files
(2) rewind( ) may fail for large files

(3) Inrewind, there is no way to check if the operations completed successfully

@ All of the above

-One of the main challenge/s of NLP is ............... .

(1) Handling Ambiguity of Sentences
(2) Handling Tokenization

(3) Handling POS- Tagging

(4) All of the mentioned

What is state space ?

(1) The whole problem

(2) Your Definition to a problem

(3) Problem you design

(4) Representing your problem with variable and parameter
Which search is similar to min-max search ?

(1) Hill-climbing search

(2) Dcpth-ﬁrst search

(3) Breadth-first search

(4) All of the mentioned

A 3-input neuron is trained to output a zero when the input is 110 and a one when the
input is 111. After generalization, the output will be zero when and only when the input

is :
(1) 000 or 110 or 011 or 101 ~ (2) 010 0r 100 or 110 or 101
(3) 000 or 010 or 110 or 100 . (4) 100 or 111 or 101 or 001

MPH/PHD/URS-EE-2019/(Com. Sci)(SET-Z)/(A) . i BT,
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35. The truth values of traditional set theory is ....... ..... and that of fuzzy setis ............ -
| (1) Either Q or 1, between 0 & 1 | ‘ |

(2) Between 0 & 1, either 0 or 1

(3) Between 0 & 1, between 0 & 1

(4) Either 0 or 1, either 0 or 1

36. Which of the following statement(s) is/are true for Gradient Decent (GD) and
Stochasnc Gradient Decent (SGD) ?

a. In GD and SGD, you update a set of parameters in an iterative manner to minimize
‘the error functlon :

b. In SGD, you have to run through all the samples in your training set for a smgle _
update of a parameter in each iteration.

c. In GD, you either use the entire data or a subset of trammg data to update a
parameter in each iteration.

(1) Onlya (2) Onlyb (3) Onlyc (4) a,bandc -
37. In hopfield networh with symmetric weights, energy at each state may ?

(1) increase L5 2 dectease ' ,

(3) decrease or remain same (4) decrease or increase

38. In which of the followmg learning . techniques, the teacher returns reward and
punishment to learner ?

(1) Active learning | ~ (2) Reinforcement learning:
(3) Supervised learning | (4) Unsupervised learning
39. ............ algorithm(s) is used to extract the plan dlrectly from the planning graph,
rather than using graph to prov1de heuristic. i
(D BFS/DFS [ - (3) Graph-Plan (4) Greedy
40. Inference algorithm is complete only if :
(1) It can derive any sentence
(2) It can derive any sentence that is an entailed version.
(3) Itis truth preserving ‘ ‘
" (4) It can derive any sentence that is an entailed version & It is truth preserving

MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(A)
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41. Database : In second normal form ................
(1) A composite attributes is converted to individual attributes.
(2) Non key attributes are functionally dependent on key attributes.

(3) The non key attributes functionally dependent not on a part of key attributes.
"(4) All the above. | '

42. What stores the metadata about the structure of the database, in particular the schema
of the database ? ' : '

. (1) Indices (2) Database_log
(3) Data files ' £ (4) Data Dictionary

43. Consider the following Employee table :

ID salary : DeptName
1 10000 ‘ - EC

2 40000 Y - EC
330000 - cs

4 40000 ME
550000 _ . ME.
666000 - - . ME

7 70000 o KRN o - 1)

How many rows ére there in the result of following query ?
SELECTEID . |
FROM Employee E :
| WHERE EXISTS (SELECT E2.salary
FROM Employee E2 '
WHERE I;Zﬁ.DcptName ='Ccs" |
AND E.salary> E2.salary) . ik |
1) o0 2) 4 o0 V) BT g e
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44. In DBMS, index is clustered, if ;
(1) itis on a set of fields that form a candidate key.
(2) it is on a set of fields 1hat mclude the primary key.

(3) the data records of the file are orgamzed in the same order as the data entries of the
index.

(4) the data records of the file are organized not in the same order as the data entries of
the index.
45. Which of the following statement is rue for the "Reconciled data” ?
| (1) Data stored in the various operational systems thréughout the organization.
(2) Current data intended to be the single source for all 'decision support systems.
(3) Data stored in one operational system in the organization.

(4) Data that has been selcctcd and formatted for end-user support apphcatlons

46. Data warchouse is’: _
(1) The actual discovéry phase of a knowledge discovery process-
(2) The stage of selecting the right data for a KDDprocess

(3) A subjcct-oriented integrated time variant non-volatile collection of data in support
of management ‘

(4) None of these

" 47. The need to synchronize data upon update is called ............. .

(1) Data Manipulation (2) Data Replication
(3) Data Coherency = (4) Data Imitation
48. ...... S can best be described as a programming model used to develop Hadoop-
based applications that can process massive amounts of data.
(1) MapReduce | - (2) Mahout
(3) Oozic | (4) All of the mentioned

49. The 'atlribute AGE is calculated from DATE_OF BIRTH. The attfibute AGE is

-------------

(1) Single valued (2) Multi valued - (3) Composite (4) Derived

MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(A)
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0. Which of the following is a NoSQL Database Tybe ?

" (1) SQL
(3) JSON

(2) Documént databases

(4) All of the mentioned

51. A scheduling algorithm assigns priority proportional to the waiting time of a process.

Every process starts with priority zero (the lowest priority). The scheduler re-evaluates
the process priorities every T time units and decides the next process to schedule.

Which one of the following is #rue if the processes have no 1/0 operations and all
arrive at time zero 2’

(1) This algomhm is equivalent to the ﬁrst-come-ﬁrst-serve algorithm.

(2) This algorithrﬁ is equivalent to the round-robin algorithm.

(3) This algorithm is equivalent to the shortest-job-first algorithm .

4 Thi‘s algorithm is equivalent to the shortest-remaining-time—ﬁrst é]gorithm. '
52.

An operating system maintains smaller data structures for a thread than a process, as a

thread is usually defined as a ' light weight process What is the per thread basis of the
operating system ?

(1) Does not maintain a separate stack
(2)° Maintains only CPU register state | ’
(3) Does not maintain a virtual memory state
(4) Maintains only scheduling and accounting information
53. Which of the fbllowing statéments are frue-? ' h
(1) Shortest remaining time first scheduling may cause starvation
2) Starvatidn may be caused by pre-emptive scheduling.
(3) In terms of response time robin round is better than FCFS

(4) All of the above statements are true
' 54. Which of the following statements is frue for the dirty page in a page table ?
(1) Helps to maintain LRU information

(2) Allows only read on a page '
(3) Helps to avoid unnecessary writes on paging device

(4) None of the above

MPH/PHD/URS-EE-2019/(Com. Sci)SET-Z)(A) - s P.T.O.
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| 55. The following program consists of 3 concurrent processe';, and 3 binary semaphores.
The semaphores are initialized as S0 =1, 1 =0, 82=0.
Process PO
while(true)
~ wait(S0);
print '0";
release(S1);
release(S2); |

Process PI
waite(S1);
~ release(S0);

Process P2
 wait(S2);
release(S0);
How many times will PO print '0'?.

(1) Atleast twice (2) Exactly twice (3) Exactly thrice (4) Exactly once

56. .............is not possible in distributed file system.
(1) File replication . (2) Migration
(3) Client interface ‘ ~ (4) Remote access

57. InLINUX, a file named file 01 should be feadabl_e, writable and executable only by the
user(owner). Which one of the following set of command will be used ? 4

(1) chmod 700 file01 - ~ (2) chmod 000 file0]
(3) chmod 477 file01 ‘ (4) chmod 007 file01 o, s
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58.  Which is an unsolvable problem in access-matrix ?
(1) Owner override | (2) Brute force

(3) Access denied | (4) Confinement

99. Data Encryption Standard is an example of a ............... cryptosystem.
(1) Symmetric-key (2) public key
(3) hz_lsh key (4) asymmetric-key

60. RAID level .............. is also known as block interleaved parity organisation and uses
block level striping and keeps a parity block on a separate disk.
(M1 @) 2. ()3, @) 4

61. Which one of the following is mot desired in a good Software Requirement
Specifications (SRS) document ?
(D FUnciional Requifernents
(2) Non-Functional Requirements
(3) Goals of Implementation
(4) Algorithms for Software Implementation

62. The Phases of formal review process, in software engineering are mentioned below.
Arrange them in the correct order :
i Plahning
ii. Recview Meeting
iii. Rework
iv. Individual Preparations
v. KickOff
vi. Follow Up ‘
(1) i, ii, iii, iv, v, vi (2) vi, i, ii, iii, iv, v
(3) i, v, iv, i, i, vi (4) i, i, i, v, iv, vi

63. System architecture is determined during which p.hase Z .
(1) Requirement gathering (2) Implementation
(3) Development (4) Design

MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(A) : | P.T.O.
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64,

65.

66.

.67.

68.

69.

Component testing is a :

(1) Black box testing (2) White box testing
(3) Grey box testing - (4) Both (1) and (2)
The objective of software proje.ct planning is to:

(1) Convince the customer that a project is feasible

(2) Make use of historical project data

(3) Enable a manager to make reasonable estimates of cost and schedule

(4) Determine the probable profit margm pnor to bidding on a pI'O_]CCt

In Software Engineering which is nof an element of requirement model ?

(1) Behavioural elements (2) Class based elements

(3) Data elements - (4) Scenario based elements

The model Wthh estimates the total effort in terms of person, months of the techmcaj
project staffis ........ g s |

(1) Spiral Model ~ (2) Waterfall model”
(3) Win-win spiral model (4) COCOMO Model

Agile Modellmg (AM) prov1des guidance to practltloner during which of these
software tasks ?

(1) Analysis (2) Design (3) Testing (4) Both 1 and 2

Read the columns and match the following :

(a) Data coupling | (i) Module A and Module B have shared data.
(b) Stamp coupling (ii) Dependency between modules 1S based o
E - communicate by only passing of data.

.(c) Common coupling (iif) When complete data structure iS pPassed from one
module to another, 3

n the fact they

(d) Content coupling  (iv) When the control is passed from
middle of another. one module to the

(1) a-iii,b-ii,c-i,d-iv

(2) a'll’b*iii,c-i,d
3) ?-ii,b-iii,c-iv,d-i

- iv
(4) a-iii, b-ii,c - iy, q.
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70.

Which of the following is not included in the Software requircments specification
document ?

(1) Functional Requirements
(2) Non- functional requirements

(3) Goals of implementation

., (4) User Manual

71. Which one of the following statements is nof correct about the B+ tree data structure

used for creating an index of a relational database table ?

(1) B+ Treeisa height—ba]anécd tree
(2) Non-lecaf nodes have pointers to data records
(3) Key values in each node are kept in sorted order

(4) Each leaf node has a pointer to the next leaf node

72. Select the correct asymptotic complexity of an algorithm with runtime T(n, n) where

T(x, ¢) = O(x) for ¢ <=2,

T(c, y) = ©(y) for ¢ <= 2, and -

T(x, y) = O(x+y) + T(X/2, y/2)

(1) ©(nLogn) 2) O(n?) (3) ©(n) (4) ©(n’Logn)

73. .Which of the following changes to QuickSort algorithm will improve its performance
on average and are generally done in practice ?

A. Randomly picking up to make worst case less likely to occur.

Calling insertion sort for small sized arrays to reduce recursive calls.

B
C. QuickSort is tail recursive, so tail call optimizations can be done.
D

A linear time median scarching algorithm is used to pick the median, so that the
worst case time reduces to O(n Log,)

(1) A and B (2) B,CandD (3) A,BandC (4) B,Cand D
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- 76.
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74.

75.

77.

78.

79.

80.

The number of elements that can be sorted in (log n) time using heap sort is :

A. ©(1) B. @(J@ n) C. G[lol;go";n] D. O(logn)

(1) A (2) B @3 C 4 D h

Consider a complete graph G with 4 vertices. The graph G has ......... spanning
trees. :

(1) 15 )8 @16 - 413

TS T solves the problers of finding the shortest path from a point in a graph to a
destmatlon ' ,

(1) Kruskal's algorithm 3 (2) Prim's algorithm.

(3) Dijkstra algorithm i (4) Bellman ford algorithm

The number of comparisons done by sequential search is :

(1) (NV2)-1 2) (N +1)2 3) - 1)2 @) V+ 2)/2

Con51der the tree arcs of a BFS traversal from a source node W in an unwelghted
connected, undirected graph The tree T formed by the tree arcs is a data structure for

computing :

E (1) the shortest path between every pair of vertices.

(2) the shortest path from W to every vertex in the graph.

(3) the shortest paths from W to only those nodes that are leaves of T.
(4) the longest path in the graph.

Consider a hash table with 9 slots. ‘The hash function is h(k) = k mod 9. The COHISIOI’]S
are resolved by chaining. The following 9 keys are inserted in the order :

' 5,28, 19, 15,20,33,12,17, 10

The maximum, minimum, and average chain lengths in the hash table, respectively, are :

(1)30andl (2) 3,3,and3 (3)40and1 (4)30and2

he] hl ;wlll]lziveal]l LY ...........‘keys. .

oy i .
ol
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Consider the following grammar :

P->xQRS

Q>yz|z

Rowle

S—>y

What is FOLLOW (Q)? .

) {R} @) ) (3) {w.y} ) £ )
Pushdown machine represents :

(1). Type 3 regular grammar (2) Type 2 context free grammar
(3) Type 1 Context sensitive grammar (4) Type 0 grammar

The languages generated by Turing machine are :
(1) Recursively enumerable languages

(2) Regular languages

(3) Regular expreésion

(4) Context free languages

Any strings of terminals that can be gcneratéd by CFGis :

S - XY

X—>aX|bX]|a

Y - Ya|Yb|b |

(1) has at lecast one b ~ (2) should end by 'a'
(3j has no consecutive a's or b's (4) has at least 2a's

In a compiler, keywords of a language are recognized during :
(1) parsing of the program

(2) the code generation

.(3) the lexical analysis of the program

(4) dataflow analysis

MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(A) ~ - ° b kit P.T.O.
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86. Match all items in Group 1 with correct options from those given in GrouP 23

Group 1 , "' Group 2
P. Regular expression . (i) Syntax analysis |
Q. Pushdown automata ' _ (ii) Code generation
" R. Dataflow analysis ' | (iii) Lexical analysis
S. Register allocation (iv) Code optimization
(1) P-(iv) Q-(1), R~(i1), S-(iii) (@) Pe(ii), Q-(), R-(fY), S-(ii)
(3) P-(iii), Q-(iv), R-(i), S-(ii) " (4) P-(ii), Q-(i), R-(iv), S-(iii)

87. An LALR(I) parser for a grammﬁr’ G can have shift-reduce (S;R) conflicts if and only
ify « , , . -

a

(1) the SLR(1) pﬁrscr for G has S-R conflicts
(2) thie LR(1) parser for G has S-R conflicts

| (3) the LR(0) parser for G has S-R conflicts ,
7(4) the LALR(1) parscr'for G has reduce-reduce conflicts

88. Rahul, Mohan, Srinivas and Arun are seated around a square table. Rahul is sitting to

- " the left of Mohan. Srinivas is sitting to the right of Arun. Which of the following pairs
: are seated opposite each other ? :

(1) Rahul and Mohan ' ~ (2) Srinivas and Arun -
(3) Srinivas and Mohan - " (4) Srinivas and Rahul

89. Consider the following languages :
Ly = {0”1‘10’ | pq,r 2.0} .
L2={0‘_”1q0’|p,q,r20,p¢r} : | ' " i
Whiéh one of the following statcfnehts is false ?
(1) L, is context-free
| (2) L, intersection L, is context-free
(3) Complement of L; is recurs.ive

(4) Complement of L, is context-free but not regﬁlar
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90. Resolution of externally defined symbols is performed by :

(1) Linker (2) Loader (3) Compiler (4) Interpreter

81. Consider that 15 machincs need to be connccted in a LAN using 8-port Ethernct
switches. Assumc that these switches do not have any scparate up link ports. The
minimum number of switches nceded is . .............. ;

(1) 3 (2) 4 3) 5 4) 6

92. An analog signal carries four bits in cach signal clement. Find the baud ratc and bit
rate, if 2000 signal clements arc sent per sccond :
(1) 2000bauds per scc, 8000bps
(2) 8000bauds per scc, 2000bps
(3) ZOOObauds per scc, 2000bps
(4) 8000bauds per scc, 8000bps

93. Using Cyclic Redundancy Check (CRC), find what is thc‘ dividend at the receiver, if

the'data unitis 111111 and the divisor is 10102 - '

‘(]) 111111011 (2) 111111110 (3) 1010110 (4) 110111111

94. In the IPv4 addressing format, the number of nctworks allowed under Class C
addresscs is : -

M2t @2 ® 2% @y g
95. What is the usc of Pil_lg command ?

(1) To know nctwork spced '

(2) To test storage device

(3) To test a host on the network is rcachable

(4) Nonc of thc above

96. Which laycr is CoAP ?

(1) Control layer ) (2) Transport layer
(3) Scrvice layer (4) Application layer
Mpj /PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(A) L0,
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'97. Which layer in OSI model is responsible for translation, encryption and compression of
data ? |

(1) Session layer (2) Application layer

(3) Presentation layer (4) Physical layer

98. The ..ccncncna protocol is used for the transmission of "e-mails and

protocol is used by email programs to retrieve emails from an email server.

(1) POP, SMTP  (2) SMTP,POP . (3) SMTP, SMTP (4) POP, POP

Point out the correct statement with regard to Cloud Computing :

---------------

99.

~ (1) Platforms can be based on specific types of development Ianguages, application
frameworks, or other constructs.
(2) SaaS is the cloud-based equivalent of shrmk-wrapped software.

(3) Software as a Service (SaaS) may be succinctly descrlbed as software that is
deployed on a hosted service.

(4). All of the mentioned.

100. InIoT, MQTTis ..ccceennnnnnns oriented.

(1) Data  (2) Message 3) Netwerk ' (4) Device
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1. Which one of the following statements is not correct about the B+ tree data structure
used for creating an index of a relational database table ?

(1) B+ Tree is a height-balanced tree
(2) Non-leaf nodes have pointers to data records
(3) Key values in each node are kept in sorted order

-(4) Each leaf node has a pointer to the next leaf node

2. Selcct the correct asymptotic complexity of an algorithm with runtime T(n, n) where
- T(x, ¢) = O(x) for c <=2, » | | |
T(c,y) = G_-)(y) forc <=2, ?nd
T(x, y) = ©(xty) + T(x/2, y/2)
(1) ©(nLogn) (2) O(n’)
(3) ©(n) S . (4) ©(n’Logn)
3.

Which of the following changes to QuickSort algorithm will improve its performance
on average and are generally done in practice ?

A. Randomly picking up to make worst case less likely to occur.

Calling insertion sort for small sized arrays to reduce recursive calls.

B.
C. QuickSort is tail recursive, so tail call optimizations can be done.
D.

A linear time median searching algorithm is used to pick the median, so that the
worst case time reduces to O(n Log,) '

(1) AandB | (2) B,Cand D
(3) A,BandC | (4) B,C and D
4. The number of elements that can be sorted in (log n) time using heap sort is :
logn s
; 1 B. OlJlog n C. © D. ®
A. e(1) (\/ g ) (loglognJ (log n)
(1 A ) B | 3)C (4) D

MPII/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(B) P.T. O.
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5. Considér a complete graph G with 4 vertices. The graph G has ........ Spanning
trees. ’ c
(1) 15 \ 2) 8 (3) 16 4) 13

;R

. solves the problem of finding the shortest path from a point in a graph to a
destination.

(1) Kruskal's algorithm (2) Prim's algorithm

~ (3) Dijkstra algorithm (4) Bellman ford algorithm.

The number of comparisoﬁs‘d‘oncby scquential search is 3
(1. (N2) - 1 | | (2) (N +1)2
(3) (N-D/2 (4 (V+2)2

Consider the tree arcs of a BFS traversal from a source node W in an unweighted,

connccted, undirccted graph. The tree T formed by the tree arcs is a data structurc for
computing :- '

(1) the shortest path between every pair of vertices. .
(2) the shortest path from W to cvcfy vertex in the graph.

(3) the shortest paths from W to only those nodes that arc lcaves of T.

(4) the longest path in the graph.

Consider a hash table with 9 slots. The hash function is h(k) = k mod 9. The colliqioﬁs
arc resolved by chaining. The following 9 keys are inserted in the order :

5,28, 19, 15,20, 33, 12, 17, 10 | ' |
'The maximum, minimum, and avcrage chain lengths in the hash tablc rcspcctlvcly arc :
(1) 3,0,and 1 ' : (2) 3,3,and 3

(3) 4,0,and 1 (4) 3,0,and 2

A B-tree of order 4 and of hmghl 3 will have a maximum of - -

i 35 | e T A— keys.

(2) 63
(3) 127 (4) 188 -

10.

MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(B)
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11. A scheduling algorithm assigns priority proportional to the waiting time of a process.
Lvery process starts with priority zero (the lowest priority). The scheduler re-evaluates
the process priorities every T time units and decides the next process to schedule.
Which one of the following is frue if the processes have no I/O operations and all
arrive at time zcro ? ‘

(1) This algorithm is equivalent to the first-come-first-serve algofithfn.
(2) This algorithm is equivalent to the round-robin algorithm.
(3) This algorithm is equivalent to the shortest-job-first algorithm . ‘

(4) This algorithm is equivalent to the shortest-remaining-time-first algorithm.

12. An opcrating system maintains smaller data structures for a thread than a process, as a
thread is usually defined as a ' light weight process’. What is the per thread basis of the

operating system ? .
- (1) Does not maintain a separate stack
(2) Maintains only CPU register state
(3) Does not maintain a virtual memory state

(4) Maintains only scheduling and accounting information

13. Which of the following statements are frue ?
(1) Shortest remaining time first scheduling may cause starvation
(2) Starvation may be caused by pre-emptive scheduling.

(3) In terms of response time robin round is better than FCFS

(4) All of the above statements are true-

14. Which of the following statements is frue for the dirty page in a page table ?
(1) Helps to maintain LRU information '
(2) Allows -only read on a page .
(3) Helps to avoid unnecessary writes on paging device
(4) None of the above |

MPII/PHD/URS-EE-2019/(Com. Sci.(SET-Z)/(B) P.T.O.
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15. The foilowing program consists of 3 concurrent processes and 3 binary semaphores.
The semaphores are initialized as S0 =1, s1.=0,S2=0.
Process PO
while(true)
{
wait(S0);
print '0';
rcleasé(S 1);
release(S2);

Process Pi
waite(S1); _ :
release(S0); 5

Process P2
wait(S2);
release(S0);

‘How many.times‘will PO print '0'?

- (1) Atleast tWice (2) Exactly twice' (3) Exactly thrice  (4) Faaciiiine

1B onetleme: is not possible in distributed file system.
(1) File replication (2) Migration
(3) Client interface (4) Remote access °

17. In LINUX, a file named file 01 should be readable, writable ang

user(owner). Which one of the following set of command wij be
(1) chmod 700 file01

(3) chmod 477 file01

€xecutable only by the
used ?
. (2) chmod 000 file01

' 4) chmod 007 file01 .
MPII/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(B)
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18.

19.

20.

21,

22.

23.

24.

MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(B) -

Which is an unsolvable pfoblem in access-matrix ?
(1) Owner override

(3) Access denied

(2) Brute force
(4) Confinement
Data Encryption Standard is an example of a
(1) Symmetric-key
(3) hash key

RAID level

--------------

............... crypfosystem.
(2) publickey

- (4) asymmetric-key

is also known as block interleaved parity organisation and uses
block level striping and keeps a parity block on a separate disk.

(1) 1. . @2 | (3) 3 (@) 4
One of fhe main challenge/s of NLP is ...... SRTTTITES .

(1) Handling Ambiguity of Sentences

(2) Handling Tokenization

(3) Handling POS- Tagging

4) All of the mentioned

What is state space 7
| Q) 'fhe whole problerri -

2) ‘Yeur Deﬁﬁition to a problem

(3) Problem you design

(4) Representing your problem witﬁ variable and parameter
Which search is similar to min-max search ?

(1) Hill-climbing seaich - | (2) Depth-first search |
(3) Breadth-first scarch " (4) All of the metionsd

A 3-input neuron is trained to output a zero when the input is 110 and a one when the:

input is 111. After generalization, the output will be zero when and only when the input

is L
" (1) 000 or 110 or 011 or 101

(2) 010 or 100 or110 or 101 .
(3) 000 or 010 or 110 or 100

(4) 1000r 111 or 1010001 »+ .. *

e pimoy.

Scanned with CamScanner




25-.' The truth values of traditional set theory is ............ and that of fuzzy setis ....... e
(1) Either 0 or 1, between 0&1 '
(2) Between 0 & 1, either O or 1.
(3) Between 0 & 1, between 0 & 1°
(4) Either 0 or 1, either 0 or 1

26. Which of the following statement(s) is/are frue for Gradient Decent (GD) and
Stochastic Gradient Decent (SGD) ?

a. In GD and SGD, you update a set of parameters in an iterative manner to minimize
' the error function,

b. In SGD, you have to run through all the samples in your trammg set for a single
- update of a parameter in cach iteration.

¢. In GD, you either use the entire data or a subset of training data to update a
- parameter in each iteration.

(1) Only a (2) Only b (3) Onlyc "(4) a,bandc
27. In hopﬁeld network with symmetric welghts energy at each state may ?

(D increase (2) decrease

(3) decrease or remain same (4) decrease or increase

28. In which of the following learnmg techmques the teacher returns reward and

punishment to learner ?

(1) Active learning - ,(2) Reinforcement learning
(3) Supervised learning (4) Unsupervised learning

29. algorithm(s) is used to extract the plan directl

rather than using graph to provide heuristic.

(1) BESDFS  (2) A* ~ (3) Graph-Plan

Y from the planning graph,

4) Greedy

30. TInference algorithm is complete only if : -

(1) It can derive any sentence

(2) It can derive any sentence that is an entailed version
(3) Itis truth preserving

4 It can derive any sentence that is an entalled version & It ig truth prege _
rving

MPL/PHD/URS-EE-2019/(Com, Sci. )(SET-Z)/(B)
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31.

32.

33.

34.

35.

»

Which one of the folloWing electronic circuits can be used to store 1 bit of data ?
(1) Encoder (2) OR gate (3) Flip flop (4) Decoder

In 16-bit 2's complement representation, the decimal number —20 is :

(1) 1111 1111 0001 0100 (2) 0000 0000 1110 0100

(3) 1111 1111 1110 1100 (4) 1000 0000 1110 0100

‘When an interrupt occurs, which one of the following takes place ?

(1) Execution of the current instruction is completed and the address of the next
instruction is saved before the interrupt service program starts

(2) Execution of the current instruction is aborted and its address is saved beforethe
~ interrupt service program starts -

(3) Execution of the current instruction is completed and the interrupt service program
starts

(4) Execution of the current instruction is aborted and the interrupt service program
starts ' '

Which one of the following is the correct arrangement of the ease of programming
(from easiest to hardest) of various programming languages ?

(D) Binary machine code, hex code, assembly, high level language

(2) Binary machine code, assembly, hex code, high level language

(3) High levgl language, assembly, hex code, Binary machine code

(4) High level language, hex code, assembly, Binary machine code

*Which one of the following is a valid comparison of the characteristics of an RISC and
a CISC computer ?

(1) CISC computers exhibit better performance than RISC computers because
complex instructions get executed in hardware.

(2) For the same program, a compiler generates more number of CISC instructions
than RISC instructions.

(3) CISC computers usually have a higher MIPS rating as compared with comparable
RISC computers. '

(4) RISC computers deploy hardware control as compared with microprogrammed
control in case of CISC computers.

MPH/PIID/URS-EE-2019/(Com. Sci.)(SET-Z)/(B) | P.T.O..
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36. For transferring data from a hard disk to the attached computer on a page fault, which
one of the following would be preferred mode of transfer ?
(1) Direct Memory access
(2) Programmed I/O
(3) Hardware interrupt driven I/O

(4) Software interrupt driven

\

37. A ROM is used to store the multlpllcatlon table of two 8 bit unsigned integers. What
would be the size of required ROM ? '

(1) 64K X 16bits (2) 16K X 8bits . (3) 256 X 16 bits  (4) 32K X 8bits

38. If four processors are to be interconnected with three memory modules using a crossbar
interconnection, what is the minimum number of switches required ? '

(1) 7 () 12 - (3) 16 | 4) 17
39. Distributed computers belong to which one of the following classes of computers ?

(1) SISD 2) SIMD = (3) MIMD . (4) MISD

40. What is the minimum number of 2-input NOR gates reqﬁired to implement 4-var1able
function. expressed in sum-of-minterms from as f = ¥ ©, 2, 5,7, 8, 10, 135 15) %
Assume that all the inputs and their complements are available.

(1) 3 @4 B ) 6

- 41. Consider that 15 machmes need to be connected in a LAN using 8-port Ethernet
‘switches. Assume that these sthches do not have any separate up link ports. The
minimum number of switches needed is ............... '

13 2) 4 @5 @

42. An analog signal carries four bits in each signal element Find the baud rate and bit

rate, if 2000 signal elements are sent per second :
(1) 2000bauds per sec, 8000bps
(2) 8000bauds per sec, 2000bps
- (3) 2000bauds per sec, 2000bps
(4) 8000bauds per sec, 8000bps

MPII/PIID/URS—EE-2019/(Com. Sci.)(SET-Z)/(B)
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43. Using Cyclic Redundancy Check (CRC), find what is the dividend at the receiver, if
the-data unit is 111111 and the divisor is 1010 ? -
(1) 111111011 | (2).111111110 (3) 1010110 . (4) 110111111~
44, In the IPv4 addressing format, the number of networks aIlowed under Class C
© addresses is : -
(D) 21 ) 2’ - (3) 22 4 2%
'45. What is the use of Ping command ? -
(1) To know network speed
(2) To test storage device
(3) To test a host on the network is'rea_chable _
(4) None of the above
46. Which layer is C.oAP ?
(1). Control layer ~ (2) Transport layer
(3) Service layer - (4) Application layer
47. Which layer in OSI model is responsible for translation, ehéryption and compression of
data ? _ ' .
(1) Scssion layer ‘ " (2) Application layer
(3) Presentation layer o (4) Physical layer
A8.  The “...cei cisws uis protocol is used for the transmission of e-mails and ...............
protocol is used by email programs to retrieve emails from an email server.
(1) POP, SMTP  (2) SMTP, POP  (3) SMTP, SMTP (4) POP, POP
' 49. Point out the correct statement with regard to Cloud Computing :
(1) Platforms can be based on specific types of development languages, application
frameworks, or other constructs.
(2) SaaS is the cloud-based equivalent of shrink-wrapped software. |
(3) Software as a-Service (SaaS) may’ be succinctly described as software that is
deployed on a hosted service.
(4) All of the mentioned.
MPH/PIID/URS-EE-2019/(Com. Sci.)(SET-Z)/(B) . . " e b BT O
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50. InIoT, MQTT S ..cvveeeenneen oriented.
(1) Data ' (2) Message
(3) Network / ‘ (4) Device

51. Which one .of the following is nmot desired in a good Softwarc Requirement
Specifications (SRS) document ?

(1) Functional Requirements

(2) Non-Functional Requirements

(3) Goals of Implementation |

(4) Algorithms for Software Implementa-tion

52. The Phases of formal review process, in soﬂware engineering are mentioned below.
Arrange them in the correct order : : .

i. Planning
ii. ‘Review Meeting
iii. Rework

iv. Individual Preparations

v. Kick Off
vi. Follow Up
(1) i, i, iii, iv, v, vi | @) vi, i, ii, i, iv, v
“(3) i, v, iv, i, iii; vi » @) 4, i v, i, vi

53. System architecture is determined during which phase '?
(1) Requirement gathering - -(2) Implementation
"(3) Development (4) Design

54. Component testing is a :

- (1) Black box testing (2) White box testing
(3) Grey box testing - (4) Both (1) and (2)

MPH/PIID/URS-EE-Z(}19/(Cqm. Sci.)(SET-Z)/(B)
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56.

57. -

58.

11

The objective of software project planning is to :

(1) Convince the customer that a project is feasible

(2) Make use of historical project data

3) En;able a manager to make reasonable estimates of cost and scheduie
(4) Determine the probable profit margin prior to bidding ona project
In Software Engineering which is not an element of requirement model ?

(1) Behavioural elements (2) Class based elements

(3) Data elemenfs (4) Scenario ba‘se'd elements

The model which estimates the total effort in terms of person, months of the technical
project staff is‘ ............ .

(1) Spiral Model | (2) Waterfall model

(3) Win-win spiral model (4) COCOMO Model

_ Agilé Modelling (AM) provides guidance to practitioner during which of these

software tasks ?

(1) Analysis (2) Design . (3) Testing (4) Both 1 and 2

59. Read the columns and match the following :

MPI/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(B)

(a) Data coupling (i) Module A and Module B have shared data.

(b) Stamp coupling (i) Dependency between modules is based on the fact they
' communicate by only passing of data.
(c) Common coupling (iii) When complete data struct_uré is_ passed from one
' module to another. ‘ |
(d) "Content coupling  (iv) When the control is passed _froin 'one module to the
middle of another. '
(1) a-iii,b-ii,c-i,d-iv . 2) a-ii, b-iii, ¢ - i, d - iv

(3) a-ii, b-iii, c-iv,d-i (4) a-iii,b-1i,c-iv,d-i
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60.
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Which of the following is not included in the Software requirements spgciﬁcaﬁon

document ?

" (1) Functional Requirements

(2) Non- functional requirements
(3) Goals of implementation
(4) User Manual

Consider the following grammar :

P> xQRS"

62.

63.

64.

MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(B) -

(1) hz_ls at least one b

Q-oyz|z

Ro>wle

S—>y

What is FOLLOW (Q) ?

(1) {R} @) {wy (3) {w,y} . 4) {w, $}

Pushdown machine represents :

(1) Type 3 fegular grammar

The languages génerated by Turing machine are :

- (1) Recursively enumerable languages

(2) Regular languages

(3) Regular expression -

(4) Context free languages

Any strings of terminals that can be generated by CFG is :
S->XYy

X—>aX|bX|a

Y—>Ya|Yb|b

(2) should end by 'a:

(3) has no consecutive a's or b's (4) has at least 2a'

Scanned with CamScanner
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65. Inacompiler, keywords of a language are recognized during :

(1) parsing of the program

(2) the code generation

(3) the lexical analysis of the program

(4) dataflow analysis

66. Match all items in Group 1 with correct options from those given in Group 2 :

Group 1
Regular expression

Pushdown automata

o T

Dataflow analysis

S. Register allocation

(1) P-(iv) Q-(i), R-(ii), S-(iii)
(2) P(iii), Q-(i), R-(iv), S-(i)
(3) P-(iii), Q-(iv), R-(i), S-(ii)
(4) P-(ii), Q-(i), R-(iv), S-(iii)

Group 2
(i) Syntax analysis
(ii) Code generation
(iii) Lexical analysis

(iv) Code optimization |

67. An LALR(]) parser for a grammar G can have shift-reduce (S-R) conflicts if and only

if :

(1) the SLR(1) parser for G has S-R conflicts

(2) the LR(1) parser for G has S-R conflicts

(3) the LR(0) parser for G has S-R conflicts

(4) the LALR(1) parser for G has reduce-reduce conflicts

MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(B) e o * bl P.T.O.
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68.

69.

70.

71.

72.

>

Rahul, Mohan, Srinivas and Arun are seated around a square table. Rahul is sitting to
the left of Mohan. Srinivas is sitting to the right of Arun Wthh of the following pairs

are seated opposite each other ?

(1) Rahul and Mohan (2) Srinivas and Arun
(3) Srinivas and Mohan (4) Srinivas and Rahul
Consider the following languages : |

1, = 971907 | p,g.r >0 :

oy = ’pPﬂo’ | p.q.r 20, p# r}

Which one of the following statements isfalsé ?

(1) L, is context-free

(2) L, intersection L, is context-free -

(3) Complement of L, is recursive

(4) Complement of L, is context-free but not regular

Resolution of externally defined symbols is performed by :-
(1) Linker 2) Loader : (3) Compiler (4) Interpreter

Database : In second normal form ........ N

() A composne attrlbutes is converted to individual attributes.

(2) Non key attnbutes are functionally dependent on key attributes.

(3) The non key attributes functionally dependent not on a part of key attributes.
(4) All the above. ¢

What stores the metadata about the structure of the database, in particular the schema
of the database ? -
(1) Indices (2) Database log |

(3) Data files . (4) Data Dictionary

Scanned with CamScanner
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73. Consider the following Employee table :

ID salary DeptName
1 10000 . EC
240000 EC

330000 - | .CS

440000 " ME

5 50000 | ME

6 60000 - . ME

7 70000 ' CS
How many rows are there in the result of following query ?
SELECT E.ID . | : ;
FROM Employee E |
WHERE EXISTS (SELECT E2.salary

FROM Employee E2

- WHERE E2.DeptName = 'CS'
AND E.salary> E2.salary) _
Mo - 2 4 ‘ 35 4 6
74. In DBMS, index is clustered, if : |
(1) itis ona set of ﬁélds_that form a candidate key.
(2) it is on a set of fields that include the primary key.

(3) the data records of the file are organized in the same order as the data entries of the
index.

(4) the data records of the file are organiied not in the same order as the data entries of
the index. ' '

75. Which of the following statement is frue for the "Reconciled data" ?
(1) Data stored in the various operational systems throughout the organization.
(2) Current data intended to be the single source for all decision. support systems.
(3) Data stored in one operational system in the organization.

(4) Data that has been selected and formatted for end-user support applications.

MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(B) “a ;& ‘ P, Tv 0.
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76.

77.

78.

79.

80.

81.

82.

 MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(B)

Data warehouse is : -

(1) The actual discovery phase of a knowledge discovery process -

(2) The stage of selecting the right data for a KDD process

* (3) A subject-oriented integrated time variant non-volatile collection of data in support

of management

(4) None of these

The need to synchronize data upon update is called ............. :

- (1) Data Manipulation (2) Data Replication

(3) Data Coherency (4) Data Imitation .

can best be described as a programming model used to develdp Hadoop-
based applications that can process massive amounts of data.

(1) MapReduce (2) Mahout

(3) Oozie (4) All of the mentioned

The attribute AGE is calculated from DATE_OF . BIRTH. The attribute AGE is

(4) Derived
Which of the foilowing is a NoSQL Database Type ?

(1) SQL | (2) Document databases

(3) JSON (4) All of the mentioned

In orthographic projection, the object is placed with one of its faces ............. to the
picture plane. -

(1) Inclined (2) Perpendicular (3) Parallel (4) Any of the above

The intersection of primary ROB colours and primary CMYK colours produces
............. and ............. colour respectively

(1) White colour, White colour
(2) White colour, Black colour
(3) Black colour, White colour
(4) Black colour, Black colour

Scanned with CamScanner
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83. Letswap () bea ﬁmctlon that swaps two elements usmg their addresses. Consider the
following C function : }

void fun(int arr[ ], int n)

{
for (inti=0;i<n;i+=2)
{ ;
if 1> 0 && arr[i - 1] > arr][i] )
swap(&arr[i], &arr[i-1]); .
if(i<n-1&& ari] <arfi +1])
swap(&arr[i], &arr[i + 1]);
} | |
ai
| If an array {10, 20, 30, 40, 50 60, 70, 80} is passed to the functlon the array is
changed to :

(1) {20, 10, 40, 30, 60, 50, 80, 70} (2) {1_0, 30, 20, 40,60, 50, 80, 70}
(3) {10, 20, 30, 40, 50, 60, 70, 80} (4) {80, 70, 60, 50, 40, 30, 20, 10}
84. What is the return value of f(p, p), if the value of p is initialized to 5 before the call?

Note that the first parameter is passed by ref_erence, whereas the second parameter is
passed by value :

int (int &x, int c) {
c=c-1;
if (c==0) return 1;
x =x+1;

return f(x, ¢) * x

}
(1) 3024 (2) 6561 (3) 55440 - (4) 161051
MPH/PHD/URS-EE-2019/(Com. Sci)(SET-Z)/(B) -+ .0 . . .t .« = . P.T.0.
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85. ‘Which of the following is used to open document in new window ?

86.

87.

88.

89.

(1) <atarget="_self ">Link</a> (2) <a targctﬁ"_blank">Link</a>

(3) <a target="ﬁtop">Link</a§ (4) <a targctﬁ"jarent">Link</a>

What is the difference between servlets and applets ?

i, Servlets execute on Server; Applets execute on browser

ii. Servlets have no GUI; Applet has GUI

iii. Servlets creates static web pages; Applets creates dynamic web pages

iv. Servlets can handle only a single request; Applet can handle multiple requests
(1) i, i, ii are correct (2) 1, ii are correct

(‘3) i, iii are correct (4) i, ii, ii, iv are correct

The transformation in which an object can be shifted to any coordinate position in three
dimensional plane are called :

" (1) Translation | (2) Scaling - (3) Rotation v(4) All of these

While inheriting a class, if no access mode is specified, then which among the
following is true ? (in C++)

(1) It gets inherited publicly by default
(2) It gets inherited protected by default
(3) It gets inherited privately by default

(4) Itis not possfble

The most appropriate matching for the following pairs is :

X : Indirect addressing | (i) : Loops

Y : Imeediate addressing (ii) : Pointers
Z: Auto decrement addressing

(1) X - (i), Y - (i), Z- (i)

(3) X = (ii), Y - (iii), Z- (1)

(iii) : ' C.onstants
(2) X - (D), Y - (iii), Z- (ij)
(4) X - (i), Y - (i), Z- (i) -

MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(B)
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90. (scck() should be preferred over rewind( ) mainly because :
(1) rewind() doesn't work for empty filcs
(2) rewind() may fail for large filcs
(3) Inrewind, there is no way to check if the operations completed successfully
(4) All of the above |
91. The police arrested four crilﬁinals - P, Q, R and S. The criminals knew cach other.
They made the following statements
P says "Q committed the crime.”
Q says "S committed the crime."”
R says" I did not do it."
S says "What Q said about mc is falsc."
Assumc only onc of the arrested four committed the crime and only onc of the
statements made above is truc. Who committed the crime ? -
(1) P (2) R (3) S 4 Q
92. In a college, there are three student clubs, Sixty students are only in the Drama club, 80
students arc only in the Dance club, 30 students arc only in Maths club, 40 students arc
in both Drama and Dancc clubs, 12 students arc in both Dance and Maths clubs, 7
‘students arc in both Drama and Malhs clubs, and 2 students arc in all clubs. If 75% of
the students in the college arc not in any of thesc clubs, then the total number of
students in the college is .............. : |
(1) 1000 C(2) 975 - (3) 900 @) 225
93. 'l‘hé random cxperiment is rolling a pair of six sided dicc. Compute the probability of
the sum of two dicc bcing 8.
(1) 5/36 (2) 7/36 (3) 6/36 (4) 8/36
94. Lct G be an undirccted complete graph on n vertices, where n > 2. Then, the number of
different Iamiltonian cycles in G is equal to : :
() n! o @) n-1! 3) 1 @ (-1
95. IL.ct A = {1,2,3}. Then number of rclations conlammg (1, 2) and (1, 3) which are
reflexive and symmetric but not transitive arc : .
(1. 1 2) 2 B3 4) 4 |
MPI/PIID/URS-KE-2019/(Com. Sci.)(SET-Z)/(B) ' P.T.O.
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96.

97.

98.

99.

100.

How mény distinct binary functions of order 3 are there ?
(1) 32 (2) 256 (3) 64 (4) 128

In the givén tree list the order that the nodes are processed using preorder and postorder
are : :

(1) befdca;acdfeb (@) befdcaabedef
(3) abcdef;befdca 7 (4) abcdef;fedcba

In graphical solutions of linear inequalities, solution can be divided into :

(1) ‘one subset (2) two subsets (3) three subsets (4) four subsets

According to system of constraints,- solution set graphical representation is classified
as: ] |

(1) region of ordinate solutions (2) region of intercept solutions

(3) region of vertex solutions (4) region of feasible solutions

How many Hamiltonian paths does the following graph have ?

(1) 1 (@) 2 3o - ® 3

MPH/PHD/URS-EE-2019/(Com. Sci)(SET-Z)/(B) . ‘ g
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1. Databasc : In sccond normal form

(1) A composite attributes is converted to individual attributcs.

(2) Non key attributes arc functionally dependent on key attributes.

(3) The non key attributes functionally dcpendent not on a part of kcy attributes.

(4) All the above.

2. What storcs the metadata about the structurc of the dalabasc; in particular the schema

of the databasc ?
(1) Indices
(3) Data filcs
| 3. Consider the following l'*imploycc table :
1D salary
1 10000
240000
330000
4 40060
550000 .
6 60000
7 70000

(2) Databasc log

(4) Data Dictionary

DeptName

EC
EC
CS

ME
MLE

,
.

- ME
<

CS

How many rows arc there in the result of following query ?

SELECT E.ID
FROM Employce E
WIHERE EXISTS (SELECT 132;salary
FROM Employce E2
- WIIERE E2.DeptName = 'CS'
AND E.salary> E2.salary) -

(1) 0 (2) 4 .(3) 5

MPII/PIID/URS-EE-2019/(Com. Sci.)(SET-Z)/(C)

(4) 6
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4. In DBMS, index is clustered, if :
(1) it is on a set of fields that form a candidate key.

(2) it is on a set of ficlds that include the primary key.

(3). the data records of the file are organized in the same order as the data entrics of the

index.
(4) the data records of the file are organized not in thc same order as the data entries of
the index.
5. Which of the following statement is frue for the "Reconciled data" ?
(1) Data stored in the various operational syStems throughout the organization. -
(2) Current data intended to be the single source for all decision support systems.
(3) Data stored in one operational system in the organization.

(4) Data that has been selected and formatted for end-user support applications.

6. Data warehouse is : ,
(1) The actual discovery phase of a knowledge discovery process
(2) The stage of selecting the right data for a KDD process

(3) A subject-oriented integrated time variant non-volatile collection of data in support
of management

(4) None of these

7. The need to synchronize data upon update is called ............. :

(1) Data Manipulation ~ (2). Data Replication
(3) Data Coherency (4) Data Imitation
8. ... e can best be described as a programming model used to develop Hadoop-
based apphcatlons that can process massive amounts of data,
(1) MapReduce (2) Mahout
_(3) Oozie ) (4) All of the mentioned

9. The attribute AGE is calculated from DATE OF BIRTH. The attribute AGE is

(. Smgle walued. () Mul Va]“"d (3) Composite (4) Derived

MPH/PHD/URS-EE-2019/(Com., Sci.)(SET-Z)/(C)
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10.

11.

12.

13.

MPH/PHD/URS-EE-2019/(Com. Sci)(SET-Z)/(C) |

Which of the following is a NoSQL Database Type ?

(1) SQL @ (2) Document databases

_ (3) JSON (4) All of the mentioned
In orthographic projection, the object is placed with one' of its faces ...... =, to the
picture plane.
(1) Inclined (2) Perpendicular (3) Parallel - (4) Any of the above
The intersection of primary ROB colours and primary CMYK colours produccs
............. and ............. colour respectively
(1) White colour, White colour (2) White colour, Black colour
(3) Black colour, White colour (4) Black colour, Black colour

Let swap () be a function that swaps two elements using their addresses. Consider the
following C function :

- void fun(int arr[ ], int n)

{

for (int i = 0; i <n;it+=2)

{ -

(> 0 && artfi - 1]> ant[i] )
swap(&arr[i], &arr[i-1]);
if (i<n-1&& anfi] <arfi+1])
~ swap(&antfi], &arri + 1]);

}

If an array {10, 20, 30, 40, 50, 60, 70, 80} is passed to the function, the array is

changed to :

(1) {20, 10, 40, 30, 60, 50, 80, 70} ~(2) {10, 30,20, 40,60, 50, 80, 70}

(3 {10,20,30, 40, 50,60, 70,80} (4) {80, 70, 60, 50, 40, 30, 20, 10}

P.T.O.
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14. What is the return value of f(p, p), if the value of p is initialized to 5 before the call?
Note that the first parameter is passed by reference, whereas the second parameter is
passed by value

int (int &x, int ¢) {
c=c-1;
| if(c=0)return 1;
X =R 412 |
return f(x, ¢) * x

} s _
(1) 3024 (2) 6561  (3) 55440 (4) 161051

15. Which of the following is used to open document in new window ?
(1) <a target="'_sclf ">Link</a> (2) <atarget="_blank">Link</a>

(3) <a target="_top">Link</a> (4) <atarget=" parent">Link</a>

16. What is the difference between servlets and applets ?
i. Servlets execute on Server; Applets execute on browser
ii. Sewlfzts have no GUI; Applet has GUI |
iii. Servlets creates static web pages; Applets creates dynamic Wéb pages
iv. Servlets can handle only a single request; Applet can handle multiple requests
(1) i, ii, iii are correct ‘ (2) i,ii are correct

(3) i, iii are correct (4) i, ii, iii, iv are correct

17. The transformation in which an object can be shifted to any coordinate posmon in three |
dimensional plane are called
(1) Trans[atlon . Y 2 (2) Scaling
(3) Rotation (4) All of these

MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(C) . -+ *» .. .. .. .
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18.

19.

20.

21.

While inheriting a class, if no access mode is specified, then which among the
following is true ? (in C++) :

(1) It gets inherited publicly by default
(2) It gets inherited protected by default
(3) It gets inherited privately by default

(4) Ttis not possible

The most appropriate matching for the following pairs is :

X : Indirect addressing (i) : Loops

Y : Imeediate addressing (ii) : Pointers

Z . Auto decrement addressing (iii): Constants
1 X- (iii); Y - (ii), Z- (i) (2) X - (), Y - (iii), Z- (ii)
(3) X~ (ii), Y = (iii), Z- (1) | (4) X~ (ii), Y - (i), Z- (ii)

fseek( ) should be preferred over rewind( ) mainly because :
(1) rewind( ) doesn't work for empty files
(2) rewind( ) may fail for large files

(3) In rewind, there is no way to check if the operations completéd successfully

(4) All of the above

The police arrested four criminals - P, Q, R and S. The criminals knew each thER,
They made the following statements :

P says "Q committed the crime."

Q says "S committed the crime."

R says" I’did not do it."

S says "What Q said about me is false."

Assume only one of the arrested four committed the crime and only one of the
statements made above is true. Who committed the crime ? LR ;

(1) P @R . @8 @Q

"P.T.O.
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22. Ina college, there are three student clubs, Sixty students are only in the Drama club, 80

students are only in the Dance club, 30 students are only in Maths club, 40 students arc
in both Drama and Dance clubs, 12 students are in both Dance and Maths clubs, 7
students are in both Drama and Maths clubs, and 2 students are in all clubs. If 75% of

the students in the college are not in any of these clubs, then the total number of
students in the college is ...... R : ' |

(1) 1000 (2) 975 | (3) 900 (4) 225

23. The random cxpcrim.cnt is roliing a pair of six sided dice. Compute the probability of
the sum of two dice being 8.

(1) 5/36 (2).7/36 (3) 6/36 - (4) 8/36

24. Let G be an undirected complete‘graph on n vertices, where # > 2. Then, the number of
 different Hamiltonian cycles in G is equal to :

(1) n! () n-1 G)1 @) (n-1)!/2

25. Let A = {1,2,3}. Then number of relations containing (1, 2) and (1, 3) which are
reflexive and symmetric but not transitive are : '

DR ) 2 3) 3 @4

26. How many distinct binary functions of order 3 are there ?

(1) 32 (2) 256 (3) 64 | (4) 128
27. In the given tree list the order that the nodes are processed using preorder and postorder
arc : :
(1) befdcajacdfeb (2) befdcajabedef
(3) abcdef;befdca (4) abcdef;fedcba

MPII/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(C)

Scanned with CamScanner



B
28. In graphibal solutions of linqar inequalities, solution can be divided into :
(1) one subset -(2) two subsets (3) three suBsets (4) four subsets
29. According to system of constrainfs, solution set gréphical representation is classified
as : ‘
(1) region of ordinate solutions (2) region of intercept sblutions
(3) region of vcrfcx solutions 4) région of feasible solutions
30. How many Hamiltonian paths does the following graph have ?
(11 @ 2 oo @3
31. Consider that 15 machines need to be connected in a LAN using 8-port Ethernet
switches, Assume that these switches do not have any separate up link ports. The
minimum number of switches necdedis ............... .
ms3 @4  ®S @6
32. An analog signal carries four bits in each signal element. Find the baud rate and bii
rate, if 2000 signal elements are sent per second :
.( 1) 2000bauds per sec, 8000bps
| (2) 8000bauds per sec, 2000bps - '
(3) 2000bauds per sec, -2000bps
(4) 8000bauds per scc, 8000bps
33. Using Cyclic Redundancy Check (CRC), find what is the dividend at the receiver, if
the data unit is 111111 and the divisor is 1010 ? , 4
(1) 111111011 (2) 111111110 (3) 1010110 (4) 110111111
MPII/PIID/URS-EE-2019/(Com. Sci.)(SET-Z)/(C) > % "P.T.O.
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34.

35.

- 36.

37.

38.

39.

- 40.

C

In the IPv4 addressing format, the number of ‘networks allowed under Class C

addresses is :

(1) 2™ (2) 27 @22 . @2
What is the use of Ping command ?

(1) To know network speed

(2) To test storage device |

(3) To test a host on the network is reachable

(4) None of the abbve

Which layer is CoAP ?
(1) Control layer (2) Transport layer
(3) Scrvice layer (4) Application layer

Which layer in OSI model is responsible for translatlon encryptlon and compression of
‘data ?.

(1) Session layer (2)',Application layer
(3) Presentation layer (4) Physical layer
The ...... I .. protocol is used for the transmission of e-mails and

protocol is used by email programs to retrieve emails from an email Server.
(1) POP,SMTP  (2)-SMTP,POP  (3) SMTP, SMTP (4) POP, POP

Point out the correct statement with regard to Cloud Computlng

(D Platforms can be based on specific types of development lan

guages, applicati
frameworks, or other constructs. & pplication
(2) SaaS is the cloud-based equivalent of shrink-wrapped software

(3) Software as a Service (SaaS) may be succmctl
deployed on a hosted service.

(4) All of the mentioned.

y described as 'software that is

In IoT, MQTT IR S, oriented. .

(1) Data ; (2) Message | (3) Network (4) Devi
Ice. |

MPH/PHD/URS-EE-2019/(Com. Sci.)(Sii‘.T-Z)/(C)
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41. Which one of the following is nof desired in a good Software Requirement
Specifications (SRS) document ?

(1) Functional Requirements
(2) Non-Functional Requirements

(3) Goals of Implementation

(4) Algorithms for Software Implementation

42. The Phases of formal review process, in software engineering ar¢ mentioned below.
Arrange them in the correct order : ‘

i. Planning |

ii. Review Meeting

iii. Rework ’ _

iv. Individual Preparations

v. . Kick Off

vi. Follow Up |

(1) i, i, iii, iv, v, vi -~ (2) vi, i, i, i1, iv, v

(3) i, v, v, ii, iii, vi ¥ 1, ii, iii, v, iv, vi

43. System architecture is determined during which phase ?

(1) Requirement gathering - (2) Implementation
(3) Development = (4) Design

44. Component testing isa:
(1) Black box testing ‘ (2) White box testihg
(3) Grey box testing ¥ {4) Both (1) and (2)

45. The obj ective of software project planniﬂg isto:
(1) Convince the customer that a pfoject is feasible
(2) Make use of historical project data
(3) Enable a manager to make reasonable estimates of cost and schedule ©
(4) Determinc the probable profit margin prior to bidding on a project
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46. In Software Enginecring which is nof an element of requirement model ?
(1) Behavioural elements (2) Class based elements

(3) Data clements (4) Scenario based clements

47. ‘The model which estimates the total effort in terms of person, months of the technical

project staffis ............ . :
(1) Spiral Model , (2) Waterfall model
(3) Win-win.spiral model (4) COCOMO Model

48. Agile Modelling (AM) provides guidance to practitioner during which of these
software tasks ? ’

(1) Analysis v | (2) Design
(3) Testing | ~ (4) Both1and2
f‘9- Read the columns and match the following : |
(a) Data coupling (i) Module A and Module B have shared data.

(b) Stamp coupling (ii) Dependency between modules is based on the fact they
o _communicate by only passing of data.

(c) Common coupling (iii) When. complete data structure is passed from one
‘ module toanother. '

~ (d) Content coupling  (iv) When the control is passed from one module to the
: middle of another.

(1) a-iii,b-ii, c-i,d-iv (2) a-ii,b-iii,c-i,d-jv
(3) a-ii,b-iii,c-iv,d-i i 4) 'a-iii,b-ii,c-i.v,d-i
50. Which‘ of the following is mot included in the Sofiware requirements specification
document ?
(1) Functional Requirements
(2) Non- functional requirements _
(3) Goals of implementation

(4) User Manual

MPII/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(C)
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51. One of the main challenge/s of NLPis ............... E
(15 Handling Ambiguity of Sentences
(2) Handling Tokenization
(3) Handling POS- Tagging
(4) All of the mentioned

52. What is state space ?
(1) The whole problem
(2) Your Definition to a profnlem
(3) Problem you design

(4) Representing your problem wifh variable and parameter
53. Which search is similar to min-max search 7
(1) Hill-climbing search
(2) Depth-first search
" (3) Breadth-first search
(4) All of the mentioned'

54. A 3-input ncuron is trained to output a zero when the input is 110 and a one when the
input is 111. After generalization, the output will be zero when and only when the input
is : '

. (1) 000 or 110 or 011 0r_101 (2) 010 or 100 or 110 or 101
(3) 000 or 010 or 110 or 100 (4) 100 or 111 or 101 or 001
55. The truth values of traditional set theory is ............ and that of fuzzy setis ............ :

(1) Either 0 or 1, between 0 & 1
(2) Between 0 & 1, either 0 or 1
(3) Between 0 & 1, between 0 & 1
(4) Either 0 or 1, either 0 or 1
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| i GD) and
56. Which of the following statement(s) is/are frue for Gradient Decent (GD)

Stochastic Gradient Decent (SGD) ?
a. In GD and SGD, you ﬁpdate a set of parameters in an iterative manne

the error function.

b. In SGD, you have to run through all the sam
- update of a parameter in each iteration.

¢. In GD, you either use the entire data or a subset of training

r to minimize
ples in your training set for a single

data to update a

parameter in each iteration.

(1) Only a (2) Only b (3) Only ¢ @ ab and ¢
57. In hopfield network with symmetric weights, energy at each state may ?

(1) increase (2) decrease

(3) decrease or remain same (4) decrease or increase

58. In which of the following learning techniques, the teacher returns reward and
punishment to learner ?

(1) Active learning ' (2) Reinforcement learning
(3) Supervised 1carning 4) Unsﬁperv‘ised learning
59, e A, algorithm(s) is used to extract the plan directly from the planning graph, -
rather than using graph to provide heuristic.
(1) BFS/DFS (2) A* : (3) Graph-Plan (4) Greedy
60. Inference algorithm is complete only if : | .
(1) It can derive any sentence
(2) It can derive any sentence that is an entailed version
(3) Itis fruth prescrving
(4) It can derive any sentence that is an entailed version & It is truth preserving

61. Which one _of the following statements is nof correct about the B+ tree data structure
used for creating an index of a relational database table ? |

(1) B+ Tree is a height-balanced tree

(2) Non-leaf nodes have pointers to data records
(3) Key \(alues in each node are kept in sorted order
(4) Each leaf node has a pointer to the next leaf node
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62. Select the correct asymptotic complexity of an algorithm with runtime T(n, n) where
T(x, ¢) = O(x) for ¢ <= 2 .
T(c, y) =0(y) for c <= 2, and
T(x, y) = O(x+y) + T(x/2, y/2)

(1) ®(Logn)  (2) O@) 3) O() (4) ©(n’Logn)
63. Which of rthe following changes to QuickSort algorithm will improve its performance
On average and are generally done in practice ?
A. Randorhly picking up to make worst case less likely to occur.
. Calling insertion sort for small sized arrays to reduce recursive calls.

B
C. QuickSort is tail recursive, so tail call optimizations can be done.
D

. A linear time median searching algorithm is used to pick the median, so that the
worst case time reduces to O(n Log,,)

(1) Aand B (2) B,Cand D (3) A,Band C (4) B,Cand D
64. The number of elements that can be sorted in (log n) time using heap sort is :
A. ©(1) B. Oflogn) cC. @( logn J D. ©(log n)
) - \loglogn
A ) B @3)C (4) D | 7
65. Consider a complete graph G with 4 .vertices. The graﬁh G has .............. spanning
trees. . |
(1) 15 (2 8 (3) 16 (4) 13
66. ......ooennnn solves the problem of finding the shortest path from a point in a graph to a
destination.
(1) Kruskal's algorithm (2) Prim's algorithm
(3) Dijkstra algorithm (4) Bellman ford algorithm
67. The number of comparisons done by sequential search is :
(1) (N2)-1 (2) (N +1)2 3) W- ])/2 4) (N+2)2
MPIU/PIID/URS-EE-2019/(Com. Sci.)(SET-Z)/(C) ‘ P.T.O.
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68.

69.

70.

71.

72.

73.

C

Consider the tree arcs of a BFS traversal from a source node W in an u.nwcightcd,
connected, undirected graph. The tree T formed by the tree arcs is a data strpclurc for
computing : *

(1) the shortest path between every pair of vertices.

(2) the shortest path from W to every vertex in the graph.

(3) the shortest paths from W to only those nodes that are leaves of T.

(4) the longest path in the graph.

Consider a hash table with 9 slots. The hash function is (k) = & mod 9. The collisions
are resolved by chaining. The following 9 keys are inserted in the order :

5,28, 19, 15, 20, 33, 12, 17, 10
The maximum, minimum, and average chain lengths in the hash table, respectively, are :

(1) 3,0,and 1 (2) 3,3,and3 (3) 4,0,and 1 (4) 3,0,and?2

A B-tree of order 4 and of height 3 will have a maximum of ...............
(1) 255 - (2) 63 (3 127 (4) 188
Consider the following grammar :

P>xQRS

Q-oyz|z

Row|e

S—oy

What is FOLLOW (Q) ?
(D {R} | (2) {w} 3) {w,y} @ {w,$)

Pushdown machine represents :
(1) Type 3 regular grammar (2) Type 2 context free grammar
(3) Type 1 Context sensitive grammar  (4) Type 0 grammar

The languages generated by Turing machine are :
(I) Recursively enumerable languages (2) Regular languages

(3) Regular expression (4) Context free languages

MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(C)
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74. Any strings of terminals that can be generated by CFG is :

S > XY

X—aX|bX|a

Y—>Ya|Yb|b
(1) has at least one b : (2) should end by 'a’
(3) has no consecutive a's or b's (4) has at lcast 2a's

75. Ina compiler, keywords of a language are recognized during :

(1) parsing of the program
(2) the code generation
(3) the lexical analysis of the .program

(4) dataflow analysis

76. Mach all items in Group 1 with correct options from-those given in Group 2 :

Group 1 Group 2
E. Régular expression . | (i) Syntax analysis
Q. Pushdown automata - (ii) Code generation
R. Dataflow analysis - | (iii) Lexical a_nalysis‘
S. Register all(;cation - (iv) Code optimization
(1) P-(iv) Q-(i), R-(ii), S-(iii) (2) P-(iii), Q-(i), R-(iv), S-(ii)
(3) P-(iii), Q-(iv), R~(i), S-(ii) - (@) P(ii), Q-(0), R-(iv), S-(iii)

77. An LALR(I) parser for a grammar G can have shift-reduce (S-R) conflicts if and only
if - J ’

(1) the SLR(1) parser for G has S-R conflicts

(2) the LR(1) parsAer for G has S-R conflicts

(3) the LR(0) parser for G has S-R conflicts

(4) the LALR(1) parser for G has reduce-reduce conflicts
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78.

79.

80.

81.

82.

83.

c

Rahul, Mohan, Srinivas and Arun are seated around a square table. Ralfl‘ull1 1; ?:uniitrz
the left of Mohan. Srinivas is sitting to the right of Arun. Which of the following p

are seated opposite each other ?
(1) Rahul and Mohan
(3) Srinivas and Mohan

(2) Srinivas and Arun

(4) Srinivas and Rahul

Consider the following languages :

Iy= {()pIqOr | p,g,r > 0}

L, = {OplqO’ | p,q,r 20, p# r}

Which one of the following statements is false ?
(1) L, is context-free

(2) L, intersection L, is context-free

(3) Complement of L, is recursive

(4) Complement of L is context-free but not regular

Resolution of externally defined symbols is performed_ by :
(1) Linker (2) Loader (3) Compiler (4) Interpreter '

Which one of the following electronic circuits can be used to store 1 bit of data ?
(1) Encoder (2) OR gate (3) Flipflop = (4) Decoder
In 16-bit 2's complement representation, the decimal number —20 is :

(1) 1111 1111 0001 0100 (2) 00000000 11100100
(3) 11111111 1110 1100 (4) 1000 0000 1110 0100

When an interrupt occurs, which one of the following takes place ?

(1) Execution of the current instruction is completed and the address of the next
instruction is saved before the interrupt service program starts g

(2) Execution of the current instruction is aborted and its address is saved before the

interrupt service program starts
(3) Execution of the current instruction is completcd and the int i
errupt service
Shirts p program
(4) Execution of the current instruction is aborted and th . .
€ interrupt se
starts pt service program
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84. Which one of the following is the correct arrangement of the case of programming

(from casiest to hardest) of various programming languages ?

(1) Binary machine code, hex code, assembly, high level language

(2) Binary machme code, assembly, hex code, hlgh level language

(3) High level language, assembly, hex code, Bmary machine code‘

(4) High level language, hex code, assembly, Binary machine code
85. Which one of the following is a valid comparison of the characteristics of an RISC and
a CISC computer ?

(1) CISC computers exhibit better performance than RISC computers because
complex instructions get executed in hardware.

(2) For the same program, a compiler generates more number of CISC instructions
than RISC instructions. |

(3) CISC computers usually have a higher MIPS rating as compared with comparable
RISC computers. |

(4) RISC computers deploy hardware control as compared with microprogrammed
control in case of CISC computers. |

86. For transferring data from a hard disk to the attached computer on a page fault, which
one of the following would be preferred mode of transfer ? '

(1) Direct Memory access
(2) Programmed I/O
(3) Hardware interrupt driven I/O

(4) Software interrupt driven

87. A ROM is used to store the multiplication table of two 8 bit: un51gned mtegers What
would be the size of required ROM ? o
(1) 64K X 16bits  (2) 16K X 8bits (3) 256 X 16 bits * (4) 32K X 8bits
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90.

88.

89.

91.

.92,

93.

Cc

i crossbar
If four processors are to be interconnected with three memory modules using
mterconnectlon what is the minimum number of switches required ?
(1) 7 () 12 (3) 16 4) 17

. Al ?
Distributed computers belong to which one of the following classes of computers
(1) SISD (2) SIMD (3) MIMD (4) MISD

What is the minimum number of 2- mput NOR gates required to implement 4-var1abl§
function expressed in sum-of-minterms from as f = X 0, 2, 5, 7, 8, 10, 13, 15)
Assume that all the inputs and their complements are available.

(1) 3 (2) 4 | (3) S ‘ 4) 6

A scheduling algorithm assigns priority proportional to the waiting time of a process.
Every process starts with priority zero (the lowest priority). The scheduler re-evaluates
the process priorities every T time units and decides the next process to schedule.

Which one of the following is frue if the processes have no I/O operations and all
arrive at time zero ?

(1) This algorithm is equivalent to the first-come-first-serve algorithm.
(2) This algorithm is equivalent to the round-robin algorithm.
(3) This algorithm is equivalent to the shortest-job-first algorithm .

(4) This algorithm is equivalent to the shortest-remaining-time-first algorithm.

An operating system maintains smaller data structures for a thread than a process, as a

thread is usually defined as a ' light weight process'. What is the per thread basis of the
operating system ?

(1) Does not maintain a separate stack

(2) Maintains only CPU register state

(3) Does not maintain a virtual memory state

(4) Maintains only scheduling and accounting information

Which of the following statements are true ? ,
(1) Shortest remaining time first scheduling may cause starvation
(2) Starvation may be caused by pre-emptive scheduling,

(3) In terms of response time robin round is better than FCFS

(4) All of the above statements are true
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94. Which of the following statements is frue for the dirty page ina page table ?
(1) Helps'to maintain LRU mformatmn |

(2) Allows only read on a page

(3) Helps to avoid unnecessary writes on paging device
(4) None of the above

95. The following program consists of 3 concurrent processes and 3 bmary semaphores.
The semaphores are initialized as S0 = 1,81=0,82=0.

Process PO

while(true)

{
wait(S0);
print '0";
release(S1);
Vreleasc(SZ);

, Process PI
waite(S1);
- release(S0);

Process P2

wait(52); |

rclease(S0);

How many times will PO print '0"?

(1) At least twice ' (2) Exactly twice
(3) Exactly thrice (4) Exactly once
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96. ..eoereenns is not possible in distributed file system.
.(1) File replication | (2) Migration
(3) Clicnt interface (4) Remote access

97. In LINUX, a filc named file 01 should be rcadablc, writablc and cxccutable only by the
uscr(owner). Which onc of the following sct of command will be used ?

(1) chmod 700 filcO1 (2) chmod 000 filc01
(3) chmod 477 file01 (4) chmod 007 filcO1

98. Which is an unsolvable problem in acccss-matrix ?
(1) Owner override - (2) Brutc force
(3) Acccss denied : (4) Confincment

99. Data Encryption Standard is an example ofa sosensmnsmsnss cryptosystem.
(1) Symmetric-key (2) public key ’
(3) hashkcey, (4) asymmetric-kcy

100. RAID level voeeeereenns is also known as block intcrlcaved parity organisation and uscs

block level striping and keeps a parity block on a scparate disk.
(1)1 (@2 (3) 3 4) 4
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1. Which one of the following electronic circuits can be used to store 1 bit of data ?

(1) Encoder (2) OR gaie
(3) Flip flop : ‘ (4) Decoder

2. In 16-bit 2's complement representation, the decimal number 20 is :
(1) 1111 1111 000'l 0100 (2) 00000000 11100100
(3) 11111111 1110 1100 (4) 1000 0000 11100100

3. When an interrupt occurs, which one of the following takes place ?

(1) Execution of the current instruction is completed and the address of the next
instruction is saved before the interrupt service program starts

(2) Execution of the current instruction is aborted and its address is saved before the
interrupt service program starts

(3) Execution of the current instruction is completed and the interrupt service program
starts

(4) Execution of the current instruction is aborted and the interrupt service program
starts

4. Which one of the following is the correct arrangement of the ease of programming
(from easiest to hardest) of various programming languages ?
(1) Binary machine code, hex code, assembly, high level language
(2) Binary machine code, assembly, hex code, high level language
(3) High level language, assembly, hex code, Binary machine code
(4) High level language, hex code, assembly, Binary machine code

5. Which.one of the following is a valid comparison of the characteristics of an RISC and
a CISC computer ?

(1) CISC computers exhibit better performance than RISC computers because
complex instructions get executed in hardware. :

(2) For the same program, a compiler generates more number of CISC mstruct:ons
than RISC instructions.

(3) CISC computers usually have a higher MIPS rating as compared with comparable
RISC computers. :

(4) RISC computers deploy hardware control as compared with mlcroprogrammed
control in case of CISC computers.
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6. l'or transferring data from a hard disk to the attachcd computcr on a page fault, which -

onc of the following would be preferred mode of transfer ?
(1) Direct Mcmory acccss
(2) Programmcd /O
(3) IHardwarc interrupt driven I/0 -
(4) Sofltwarc interrupt driven
7. A ROM is uscd to store the multiplication table of two 8 bit unsigned integers. What

would be the sizc of required ROM ?
(1) 64K X 16bits (2) 16K X 8bits  (3) 256 X 16 bits  (4) 32K X 8bits

8. If four processors arc to be intcrconnected with three memory imodulcs using a crossbar
interconnection, what is the minimum number.of switches required ?
1 7 v @) 12 ' (3) 16 4) 17

9. I)lilstribulcd computcrs belong to which once of thé foilowing classcs of computers ? '
(1) SISD (2) SIMD (3) MIMD (4) MISD *

10. What is thec minimum number of 2-input NOR gates required to implcmcnt 4-variablc
function cxpressed in sum-o[’-mintcrms'from as =210, 2, 5,7, 8,10, 13, 15) ?
Assume that all the inputs and their complements arc available.

(1) 3 (2) 4 B €) B “4) 6
11. Consider that 15 machincs need to be connccted in a ILAN using 8-port Ethernet

swilches. Assumece that thesc switches do not have any scparate up link ports. The

minimum number of switchcs nceded iS ......... B sl
(13 @4 @5 ) 6
12. An analog signal carrics four bits in cach signal clement. Find the baud rate and bit
ratc, if 2000 signal clements arc sent per sccond :
(1) 2000bauds pcr scc, 8000bps
(2) 8000bauds per scc, 2000bps
(3) 2000bauds per scc, 2000bps
(4) 8000bauds per scc, 8000bps
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13. Using Cyclic Redundancy Check (CRC), find what is the dividend at the receiver, if
the data unit is 111111 and the divisor is 1010 ?

(1) 111111011 N (2) 111111110
(3) 1010110 - (4) 110111111

14. In the IPv4 addressing format, the number of networks allowed under Class C
addresses is : ’

(1) 2" @2 3) 22 @ 2%
15. What is the use of Ping command ?

(1) To know network speed

(2) To test storage device

(3) To test a host on the network is reachable

(4) None of the above

16. Which layer is CoAP ?
(1) Control layer (2) Transport layer
(3) Service layer 7 (4) Application layer

17. Which layer in OSI model is responsible for translation, encryption and compression of

data ?
‘(1) Session layer | . (2) Application layer
(3) Presentation layer (4) Physical layer

18. The .omumsmvsses protocol is used for the transmission of e-mails and ...............
protocol is used by email programs to retricve emails from an email server. |
(1) POP, SMTP | "~ (2) SMTP, POP
(3) SMTP, SMTP (4) POP, POP
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19. Point out the correct statcmcnt with regard to Cloud Computing :

(1) Platforms can be based on specific types of development languages, application
frameworks, or other constructs.

(2) SaaS is the cloud-based cqulvalent of shrink-wrapped software

-(3) Software as a Service (SaaS) may be succmctly descrlbed as software that is
deployed on a hosted service.

(4) All of the mentioned.

20. InIoT,MQTTis ............... oriented.
(1) Data  (2) Message (3) Network (4) Device
21. Which one of the following statements is not correct about the B+ tree data structure
~ used for creating an index of a relational database table ?
(1) B+ Treeis a height- balanced tree
(2) Non-leaf nodes have pointers to data records
(3) Key values in each node are kept in sorted order

(4) Each leaf node has a pointer to the next leaf node

22 Se]cct the correct asymptotic comblexity of an algorithm with runtime T(n, n) where
T(x, ¢) = O(x) for c <=2,
T(c, y) = O(y) for c <=2, and
T(x, y) = O(x+y) + T(x/2, y/2) |
(1) ®nLogn) ~ (2) ©n")  (3) On) (4) ©(’Logn)
23. Which of the following changes to QulckSort algorithm will i improve its performance
on average and are generally done in practice ?
A. Randomly picking up to make worst case less likely to occur.
B. Calling insertion sort for small sized arrays to reduce recursjve ca]lé,
C. QuickSort is tail recursive, so tail call optimizations can be done.
D.

A linear time median scarching algorithm is used to pick the medi
worst case time reduces to O(n. Log,,)

(1) Aand B ) B,CandD  (3) A,Band C

an, so that the

(4) B,Cand D
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24. The number of elements that can be sorted in (log n) time using heap sort is :

A. ©(1) B. G)(,/log n) C. @[ log J D. ©(logn)
loglogn '
(M A (2) B~ (3) C- (4) D
25. Consider a complete graph G with 4 vertices. The graph G has ............ .. spanning
trees. _ .
(1) 15 (2) 8 ‘ (3) 16 4) 13
26 o e solves the problem of finding the shortest path from a point in a graph to a
_dcstination.
(1) Kruskal's algorithm (2) Prim's algorithm
(3) Dijkstra algorithm | (4) Bellman ford algorithm

27. The number of comparisons done by sequential search is :
(1) (N12) - 1 @) (VN +1)2
(3) (N=172 | (4 (N+2)2

28. Consider the tree arcs of a BFS traversal from a source node W in an unweighted,

connected, undirected graph. The tree T formed by the tree arcs is a data structure for
computing : ' '

. (1) the shortest path between every pair of vertices.
(2) the shortest path from W to every vertex in the graph. -~

(3) the shortést paths-from W to only those nodes that are leaves of T.

(4) the longest path in the graph.

29. Consider a hash table with 9 slots. The hash function is A(k) = k mod 9. The collisions
are resolved by chaining. The following 9 keys are inserted in the order :
5,28, 19, 15,20, 33,12, 17, 10

The maximum, minimum, and average chain lengths in the hash table, respectively, are :

(1) 3,0, and 1 (2 3,3,and3
(3) 4,0,and 1 il © (4)3,0,and2
MPII/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(D) i e TR LD L s GHEPATAO,
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30. A B-tree of order 4 and of height 3 will have a maximum B i s s
(1) 255 (2) 63 (3) 127 (4) 188

31. A scheduling algorithm assigns priority proportional to the waiting - time of a process.

- Every process starts with priority zero (the lowest prlorlty) The scheduiler re-evaluates

the process ptiorities every T time units and decides the next process to schedule.
Which one of the following is frue if the processes have no I/O operations and all

arrive at time zero ? )
(1) This algorithm is equivalent to the first-come-first-serve algor-ithrﬁ.
(2) This algorithm is equivalent to the round-robin algorithm.
(3) This algorithm is equivalent to the shortest-job-first algorithm .
(4) This algorithm is equivalent to the shortest-remaining-time-first.algorithm.
32. An operating system maintains smaller data structures for a thread than a process, as a

thread is usually defined as a ' light weight process'. What is the per thread basis of the
operating system ? s

(1) Does not maintain a separate stack
(2) Maintains only CPU register state
(3) Does not maintain a virtual memory state

(4) Maintains only scheduling and accounting information

33. Which of the following statéments are frue ?
(1) Shortest remaining time first scheduling may cause starvation
(2) Starvation inay be caused by pre-emptive scheduling.
(3) In terms of response time robin round is better than FCFS

3 (4) Al] of the above statements are true

34. Which of the following statements is #rue for the dirty page in a page table ?
(1) Helps to maintain LRU mformatlon |
(2) Allows only read on a page
- (3) Helps to avoid unnecessary writes on pagmg device
‘(4) None of the above

MPH/PIID/URS-EE-2019/(Com. Sci.)(SET-Z)/(D)
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35. The following prograrri consists. of 3 concurrent processes and 3 binary semaphores.

The semaphores are initialized as S0 =1, S1 = 0,S82=0.
Process PO |
while(true)
{

wait(S0);

print '0";

“release(S1);
rclease(S2);

Process PI
waite(S1);
relcase(S0);

Process P2

waitl(S2);

release(S0);

How many t'irnes will PO print '0'?

(1) Atleasttwice (2) Exactly twice (3) Exaptly thrice (4) Exactly once

36, L is not possible in distributed file system.
(1) File replication (2) Migration
(3) Client interface (4) Remote access

37. In LINUX, a file named file 01 should be readable, writable and executable only by the
* user(owner). Which one of the following set of command will be used ?

(1) chmod 700 file01 (2) chmod 000 file01
(3) chmod 477 file01 (4) chmod 007 file01
 MPI/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(D) ' P.T.O.
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38.

39.

40.

41.

42.

43.

Which is an unsolvable problem in access-matrix ?

(1) Owner overridc | (2) Brute force

(3) Access denied | -(4) Confinement

Data Encry-ption Standard is an example ofa ............... cryptosystem.

(1) Symmetric-key : . (2) public key

(3) hash key | | (4) asymmetric-key

RAID level .............. is élso known as Biock interleaved parity organisation and uses
block level striping and keeps a parity block on a separate disk.

(a1 @2 33 (4) 4

Onc of the main challcnge/é of NLPis............... .

(1) Handling Ambiguity of Sentences
(2) Handling Tokenization

(3) Handling POS- Tagging

(4) All of the mentioned

What is state space ? -

(1) The whole problem

(2) Your Definition to a problem

(3) Problem you design

(4) Representing your problem With variable and parameter
Which search‘ is similar to min-max search ? .

(1) HilI—climbing search |

(2) Depth-first search

(3) Breadth-first scarch_ :
(4) All of the mentioned -~ - .-."

MPH/PHD/URS-EE-2019/(Com. Sci.)SET-Z)/(D) . ;. - -
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44. A 3-input ncuron is trained to output a zero when the input is 110 and a one when the

input is 111. After generalization, the output will be zero when and only when the input
is: '

(1) 000 or 110 or 011 or 101

(2) 010 or 100 or 110 or 101

(3) 000 or 010 or 110 or 100

(4) 100 or 111 or 101 or 001

45. The truth values of traditional set theory 1s ............ and that of fuzzy setis ........... ..

(D Either 0 or 1, between 0 & 1

(2) Between 0 & 1, either 0 or 1

(3) Between 0 & 1, between 0 & 1

(4) Either 0 or 1, cither 0 or 1

46. Which of the following statement(s) is/are frue for Gradient Decent (GD) and

Stochastic Gradient Decent (SGD) 7

a. - In GD and SGD, you ubdate a set of parameters in an iterative manner to minimize
the error function. : :

b. In SGD, you have to run through all the samples in your training set for a single
update of a parameter in each iteration.

c. In GD, you cither use the entire data or a subset of training data to update a
paramecter in each iteration. ‘

(1) Only a (2) Onlyb (3) Onlyc (4) a,bandc
47. In hopfield nctWork with symmetric weights, energy at each state may ?

(1) increase (2) decrease

(3) decrease or remain same . " (4) decrease or increase -

48. In which of the following learning techniques, the teacher returns reward and-
‘punishment to learner ?

(1) Active learning : (2) Reinforcement learning

(3) Supervised learning (4) Unsupervised learning

MPI/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(D) * P.T.O.
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49. ..., algorithm(s) is used to extract the plan directly from the planning graph,

rather than using graph to provide heuristic.
(1) BFS/DrS (2) A*

(3) Graph-Plan (4) Greedy

50. Inference algorithm is complete only if :
(1) It can derive any sentence

(2) It can derive any sentence that is an entailed version
(3) Itis truth preserving
-(4) It can derive any sentence that is an entailed version & It is truth preserving

51.- In orthographic projection, the object is placed with one of its faces ............. to the

picture plane.
(1) Inclined : (2) Perpendicular

(3) Parallel : ' (4) Any of the above

52. The intersection of primary ROB colours and primary CMYK colours produces
..... “eeeo...and ............. colour respectively
(1) White colour, White colour
(2) White colour, Black colour

(3) Black colour, White colour |

(4) Black colour, Black colour

MPI/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(D)
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53. Let swap () be a function that swaps two elements using their addresses. Consider the
following C function :

~ void fun(int arr[ ], int n)
A
for (inti=0;i<n;i+=2)
{ |
if (i> 0 && arr[i — 1] > arrli] )
§wap(&an[i], &arr[i-1]);
if (i <n - 1 && art[i] <ardi+ 1])
swap(&arr“[i], &arr[i+ 1]);
}
}

If an array {10, 20, 30, 40, 50, 60, 7Q, 80} is passed to the function, the array is
‘changed to : '

(1) {20, 10, 40, 30, 60, 50, 80, 70} () {10, 30, 20, 40,60, 50, 80, 70}
3) {10, 20, 30, 40, 50, 60, 70, 80} () {80, 70, 60, 50, 40, 30, 20, 10}

54. What is the return value of f(p, p), if the value of p is initialized to 5 before the call?

Note that the first parameter is passed by reference, whereas the second.parameter is
passed by value:: ;

int (int &x, int c) {
c=c—-1;
if (¢ == 0) return i;
x=x+1;
’ return f(%, ¢) * X;
} | ,
(1) 3024 (2) 6561 (3) 55440 (4) 161051

MPIIIPIID/URS-EE-ZB19/(Com. Sci.)(SET-Z)/(D) P.T.O.
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95, Which of the following is used to open document in new window

) " 1 >
(1) <atarget="_self ">Link</a> (2) <atarget="_blank">Link</a

: . e " 7 >
(3) <atarget="_top">Link</a> (4) <atarget="_parent">Link</a

56. What is the difference between servlets and apphf:ts ?
i.  Servlets execute on Server; Applets execute on browser
ii. Servlets have no GUI; Applet has GUI
iii. Servlets creates static web pages; Applets creates dynamic web pages
iv. Servlets can handle only a smgle request; Applet can handle multiple requests
(1) i, ii, iii are correct (2) i, ii are correct

(3) i, iii are correct . (4) i, ii, iii, iv are correct

57. The transformation in which an object can be shifted to any coordinate position in three

dimensional plane are called :
(1) Translation (2) Scaling (3) Rotation (4) All of these

58. While inheriting a class, if no access mode is specified, then which among the

following is true ? (in C++)

(1) It gets inherited publicly by default
(2) It gets inherited protected by default
(3) It gets inherited privately by default
(4) It is not possible |

59. The most approprlate matching for the following pairs IS

X: Indlrect addressmg (i) : Loops

Y : Imeediate addressing (i) : Pointers

Z: Auto decrement addAressing (iii):  Constants
D X=G Y=, 2-6) @) x-gyy. (i), Z- i)
(3) X (i), Y - (iii), Z- (i) &) X~ (i), Y - (i), - i

MPI/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(D) .-
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60. fseek( ) should be preferred over rewind( ) mainly because :
(1) rewind( ) doesn't work for empty files '
(2) rewind( ) may fail for large files

(3) In rewind, there is no way to check if the operations completed successfully
(4) All of the above ' :

61. Database : In second normal form
(N A composite attributes is converted to individual attributes.
(2) Non key attributes are functionally dependent on key attributes.
(3) The non key attributes funetionally dependent not on a part of key attributes.
(4) All the above. '

62. What stores the metadata about the structure of the database, in particular the schema

of the database ?

(1) Indices (2) Database log
(3) Data files ‘ (4) Data Dictionary
63. Consider the following Employee table :

ID salary DeptName

1 10000 " EC

2 40000 ‘ EC

330000 CS

4 40000 ME

550000 ME

6 60000 - ; ME

7 70000 CS ;
How many rows are there in the result of following query ?
SELECTEID |
FROM Employee E _
WHERE EXISTS (SELECT E2.salary

FROM Employee E2

WHERE E2.DeptName = 'CS'

AND E.salary> E2.salary)
(1) 0 : (2) 4 35 : 4) 6

MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(D) - P.T.O.

Scanned with CamScanner



14

64.

65.

66.

67.

68.

69.

70.

In DBMS, index is clustered, if :

(1) itis on a set of fields that form a candidate key.

(2) itis on a set of fields that include the primary key.

(3) the data records of the file are organized in the same order as the data entries of the
~ index.

(4) the data records of the file are organized not in the same order as the data entries of
the index.

Which of the'followiflg statement is frue for the "Reconciled data” ?

(1) Data stored in the various operational systems throughout the organization.
(2) Current data intended to be the single source for all decision support systems
(3) Data stored in one operatlonal system in the organization.

@) Data that has been selected and formatted for end-user support applications.

Data warehouse is :

(1) The actual discovery phase of a knowledge discovery process
(2) The stage of selecting the right data for a KDD process

. (3) A subject-oriented integrated time variant non-volatile collectlon of data in support

of management
(4) None of these

The need to synchronize data upon update is called ............. .
(1) Data Manipulation (2) Data Replication.
(3) Data Coherency (4) Data Imitation

...... ....... can best be described as a programming model used to develop Hadoop-.
based applications that can process massive amounts of data.

(1) MapReduce . (2) Mahout

. (3) Oozie (4) All of the mentioned

The attribute AGE is calculated from DATE_OF _BIRTH. The attribute AGE is

-------------

(1) Single. valued (2) Multi valued  (3) Composite " (4) Derived

Which of the followmg is a NoSQL Database Type ?

(1) SQL - _ . (2) Document databases
(3) JSON (4) All of the mentioned

MPH/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(D)
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71. Which one of the following is not desired in a good Software Requirement
Spccifications (SRS) document ?

(1) Functional Requirements : .
(2) Non-Functional Requirements
(3) Goals of Implementation _
(4) Algorithms for Software Implementation
72. The Phases of formal review process, in software engineering are mentioned below.
Arrange them in the correct order : |
i. Planning
ii. Review Meeting
iii. 'R’ework
. iv. Individual Préparations
v. Kick Off
vi. Follow Up o
(1) i, i, iii, iv, v, vi : (2) vi, i i, i, iv, v

3) i, v, 1v, ii, 111, V1 ' by (4) i, ii, iii, v, iv, vi

73. System architecture is determined during which phase ?
(1) Requirement gathering ~ (2) Implementation

(3) Development: (4) Design

74. Component testing is a : » .
(1) Black box testing (2) White box testing
(3) Grey box testing (4) Both (1) and (2)

*

- 75. The objective of software praject planning is to :
(1) Convince the customer that a project is feasible
(2) Make use of historical i)rojcct data
(3) Enable a manager to make reasonable estimates of cost and schedule
(4) Determine the probable profit margin pribr to bidding on a project

MPII/PHD/URS-EE-2019/(Com. Sci.)(SET-Z)/(D) P.T.O.
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76. In Software Engincering which is not an element of requirement model ?
(1) Behavioural elements (2) Class based elements

(3) Data elements (4) Scenario based elements

77. The model which estimates the total effort in terms of person, months of the technical

project staffis ............ .
(1) Spiral Model - (2) Waterfall model
(3) Win-win spiral model 4) COCOMO Model

78 Agile Modelling (AM) prov1des guldance to practitioner during Wthh of these
software tasks ?

(1) Analysis 2) Design
(3) Testing (4) Both 1 and 2
79. Read the columns and match the following :
(a) Datacoupling (i) Module A and Module B have shared data.

~ (b) Stamp coupling (ii) Dependency between modules is based on the fact they
communicate by only passing of data.

(c) Common coupling (iii) When complete data structure is passed from one
module to another.

(d) Content coupling  (iv) When the control is passed from one module to the
middle of another.

(1) a-iii,b-ii,c-i,d-1v | (2) a-ii,b-iii,c-i,d-iv
(3) a-ii,-b-iii,c-iv,d-i (4) a-iii,b-ii,c-iv,d-i
80. Which of .the foll.owing is no.t included in the Software requirements specification
document ?
(1) Functional Requirements
(2) Non- functional requirements
(3) Goals of implementation

(4) User Manual
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81. The police arrested four criminals - P,Q,Rand S. T he criminals knew each other.
They made the following statements :
P says "Q committed the crime."
Q says "S committed the crime."

R says" I did not do it."
S says "What Q said about me is false."

Assume only one of the arrested four committed the crime and only one of the
statements made above is true. Who committed the crime ?

()P () R 3)S @) Q

82. In a college, there are three student clubs, Sixty students are only in the Drama club, 80
students are only in the Dance club, 30 students are only in Maths club, 40 students are
in both Drama and Dance clubs, 12 students are in both Dance and Maths clubs, 7
students are in both Drama and Maths clubs, and 2 students are in all clubs. If 75% of .
the students in the college are not in any of these clubs, then the total number of
~ students in the college is .............. E

(1) 1000 (2) 975. -~ (390 4) 225

83. The random experiment is rolling a pair of six sided dice. Compute the probability of
the sum of two dice being 8. |
(1) 5/36 (2) 7/36 (3) 6/36 (4) 8/36

84. | Let G be an undirected compleie graph on n vertices,' where 7> 2. Then, the number of
different Hamiltonian cycles in G is equal to :
(1) n! @ n-1 @ 1 @) (=112

85..Let 4 = {123} Then number of relations containing (1, 2) and (1’_’3) wiich e
‘ reflexive and symmetric but not transitive are :

(1) 1 (2) 2 @3 4) 4
86. How inlany_distinct binary functions of order 3 are there ? |
(1) 32 (2) 256 ) 64 (4) 128 -
MPIUPHD/URS-EE-2019/(Com. SG)SET-ZY(D) = . ... . - =0 . o RT.O,
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87. In the given tree list the order that the nodes are processed using preorder and postorde

arc :
(1) befdcajacdfeb | (2) befdcaj;abcdef
(3) abcdefibefdca (4) abcdef;fedcba
88. In graphical solutions of linear inequalities, solution can be divided into :
(1) one subset (2) twosubsets  “(3) three subsets (4) four subsets
89. According to system of constraints, solution set graphical representation is classified
as: ' .
(1) region of ordinate solutions -(2) region of intercept solutions
(3) region of vertex solutions (4) region of feasible solutions

90. How many Hamiltonian paths does the following graph have ?

(O—C
(1) 1 2) 2 @o ) 3
91. Consider the following grammar :
P>xQRS
Q-yz|z
Rowl|e
S—>y
What is FOLLOW (Q) ?
(1) {R} 2) {w} - (3) Aw, v} @ {W, $) ‘
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(1) Type 3 regular grammar (2) Type 2 context frec grammar

(3) Type 1 Context sensitive grammar (4) Typc 0 grammar
The languages generated by Turing machinc arc :

(1) Recursively cnumecrable languagcs

(2) Regular languages

(3) Rcgular cXpression

(4) Context free languages

Any strings of terminals that can be gencrated by CFG is :-

S = XY

X —=>aX|bX|a _
Y—>Ya|Yb|b . i
(1) has at lcast onc b _ (2) should end by 'a'

(3) has no consccutive a's or b's (4) has at lcast 2a's

In a compiler, keywords of a lan-guagé arc rccognized during :

U) parsing of the program

(2) the code gencration

(3) the lexical analysis of the program

4) dataﬂow analysis i

Match all items inf Group 1 with correct options from those given in Group 2 :

Group 1 Group 2
P. Rcgular cxpression (1) Syntaﬁ( analysis
Q. Pushdown automata (ii) Codc generation
R. Dataflow analysis (iii) Lexical analysis
S. Register allocation (iv) Codc optimization
(1) P-(iv) Q-(i), R~(i), S-(iii) 2) P-(ii), Q-(i), R~(iv), S-(ii) -
(3) P-(iii), Q-(iv), R-(1), S-(i) (4) P-Gil), Q-(0), Re(iv), S~(i)

NP O
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97. An LALR(I) parser for a grammar G can have shift-reduce (S-R) conflicts if and only
if : :
(1) the SLR(1) parser for G has S-R conflicts
(2) the LR(1) parser for G has S-R conflicts
(3) the LR(0) parser for G has S-R conflicts
(4) the LALR(1) parser for G has reduce-reduce conflicts

98. Rahul, 'Mohan, Srinivas and Arun are seated around a square table. Rahul is s_.itting .tO
the left of Mohan. Srinivas is sitting to the right of Arun. Which of the following pairs
are seated opposite each other ?

(1) Rahul and Mohan (2) Srinivas and Arun
(3) Srinivas and Mohan (4) Srinivas and Rahul

99. Consider the following languages :
L= {0”1"0’ | p.q,r = O}'
Ly = 071907 | p,g,r 20, p 1)
Which one of the folloﬁing'statements is false ?
(1) L, is context-free
(2) L, intersection L, is c;ontext—free
(3) Complement of L, is recursive

“4) Complément of L, is context-free but not regular

100. Resolution of externally defined symbols is performed by :
(1) Linker (2) Loader  (3) Compiler (4) Interpreter
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